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Area of cultivated land Total
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5l 6 B 0m A Hm— v o 23,800
6| 8 & @w + s 23,000
INE® o3 o®m + i 22,500
8l ¥ =T m  + i 21,400
9l & B R & = il 19,800
100 £ 3 @ k I 16,600
11 £+ i ® + i 16,000
12l & & m® O+ i 14,900
B % A B R A 14,700
13| B &= E® 8 % 14,700
15 ~ #& @&+ i 14,200
16| @ = & FE-—vs 14,000
17l 8 Nl 0w I 13,700
17l Kk = B FHR-—V7s 13,700
9 B2 =5 B + i 13,400
200 2 v # = 7 13,300
21l = B E I 12,600
2l B e ®m + i 12,200
23| &~ @ ® + i 12,000
23| == = B AR = 12,000
25| ® N @m = il 11,500
25| = @ &+ s 11,500
5] =2 @& m  + i 11,500
28| o mp + i 11,300
29 £ 7B #® = il 11,200
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it & & 100.0 1,144,000
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31 £ N 11.4 130,500
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5| 1R S 9.6 110,200
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37 & % il + N 10,400
37( N E K OHT F iR VR 10,400
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Area of cultivated land  Paddy field

£ W kv J 5 & ¥ x 7 Mz > F 2 T
e | gEERs | v 2 7 | @ # MEfr | s B> = 7| m@ 1%
% ha % ha
2 = 100.0 2,393,000 it & & 100.0 221,900
1] & & & 9.3 221,900 1| = 0 411 91,100
2| % = 6.3 150,600 2| £ Nl 27.4 60,800
3| # H 5.4 128,900 3| & Ui 9.5 21,100
4 = & 4.4 104,400 4| B & 4.2 9,280
5| %@ B 4.1 98,600 5 il 4.1 9,000
6| #% = 3.9 8,560
2EICHIT2ILEBEDS = T 7| £ i 3.8 8,420
8| & 5 2.9 6,510
9 B = 2.1 4,740
100 # & —v 2 0.7 1,610
11| + i) 0.3 761

9.3%
JuiE
i 0N S Y F v T (hr~606D)

R g | @ 1 IREEEERE B | @ i
ha ha
1l & B R ™ z bl 16,400 31 & = H 18 th 2,630
2( f& 1 Wk N 10,700 208 B B = il 2,610
3 £ B H E N 9,160 33 £ M EH % & 2,570
4 & B B 0= AN 9,010 34 B B 0w = pl| 2,460
5l 2 M| @m0 gl 8,720 | € £ K B8 il 2,460
6] &® N @wm =E AN 8,640 6,8 A #® Z Pl 2,450
4 = T R =1 b2 6,080 37 E| oM o B L N 2,370
8l & ®H Wk N 5,190 8| B OE W OA o] 2,360
9] m M H = bl 5,110 39 & 3} wm E 5 2,340
0| & &2 N8 A U5 4,840 9 kb w E £ il 2,340
1 H+=2)EH 0z gl 4,640 411 % B Lk N 2,250
21 8 @ F& b2 4,360 R/ ¥ 0w A 5 2,240
13 B 1= H® = bl 4,020 43| B SR EB ET 1@ b 1,970
140 ¥ L H ZE AN 3,990 L N | - ] 1,920
15 & JI @m = bl 3,770 44 3 1] HT B ] 1,920
15 © » H # JB i 3,770 46| = F I BT E Pl 1,850
17 % m® &k N 3,690 47 rERFEH L N 1,840
8| & @ ®E L N 3,610 48| & w1 Bp R ] 1,680
19 2 B @B B ® 3,300 9 & j £+ il 1,560
20| %k B £ B 0= gl 3,250 500 ¢ E BT H = 1,540
21l W ® ® % AN 3,220 51| # s N Bk N 1,510
22( ) HB| H %= 1 3,140 52 ¥ O HT = = 1,340
23| "EREHH L N 3,100 53 v &k EOE 5 1,300
24| & W HT k N 3,060 54| &= ¢ E 8 & 1,160
25| B R % ™ N 3,040 55| 1 W BT 5 1,090
26| WM B & 2,940 56| 6 B 0w A K-V o 1,070
271 ® ) E I 2,900 571 H & HB H = 1,060
28| % R B B % gl 2,800 58| B M = BT % & 936
29| & ® H = A 2,790 59 ® I ™ z Pl 879
30( 1 = B L N 2,720 60 ST = H 1&g th 877




Wy # v

AEEEERE 5 | @ 1
ha

61| # L B N =2 3] 829

62| = bl i =2 3] 800

63| & 3] M = 3] 794

64 1= N iy % & 706

65| I F il iy bl 702

66| £ iy il 673

67| F R il A 5i 638

67| = + o HT % & 638

69] A & A H pES = 556

70| = vl bl iy bl 543

71 N\ £ iy B = 521

72| Lk I iy + I 505

731 T JI iy + I 503

T4 1 E£ BT = 3] 481

75| # = bl Jilz] b 460

76| % = BT H =) 454

77 & L B M A 5i 443

78| = S iy + I 408

79 #H iy pES = 373

9 & 3 BT + B 373

81| ith H iy + B 339

82| X iy iy FHE =V 7 337

83| It s iy Jilz] b 310

84| & &8 BT il 297

85| A] BT H =) 243

86| m B W E & 228

87| M = R ¥ My + JH 224

88| & # NI N %% % 208

sl L 8 H & 55 181

o & m oA B 4 % 175

91| &= A iing % & 162

92 # & bl iy bl 142

93| & ] iing Jilz] & 140

ul B @ M B B iR 126

95| A F KT AT F R =V 7 109

9| # @ E A = 97

97| & ps ol + JI 87

98| = AR BT il 86

ol & w B % % 72

100 = 5% iy FR—=V7 65
01 8 & B E & 62
102 & F iing % & 45
103 # B BT pES = 33
103 & b3 o) % & 33
105| & Al BT + iy 31
106 = 13 iing % & 28
107 2 Al iy F K — 7 26
108 # #B iing % & 18
108 & B B+ B 18
10| A B F % & 17
111 & 53 o) % & 14
112 = £ bl Jilz] b 11
13| 8 £ @ Ak -V 6
114 & #8& BT F R = 7 2
115 &8 # # & % & 1
15| = % 3 B % = 1
117 & il bl Jilz] & 0
17| & 7 8 B E & 0
7| = 8 " N #% = 0
17| # BT % = 0
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Area of cultivated land Upland field

£ H kv J 5 & ¥ 1 7 MK 5 2 T
e | BERRs | v = 7 | @& # Mgtz | s 5| = 7| @ b
% ha % ha
2 = 100.0 2,004,000 it & & 100.0 921,800
1] & & & 46.0 921,800 1l + s 27.5 253,900
2l B B B 4.0 79,200 2l Ak —v o 17.8 164,500
3| & A 3.5 70,900 3| R = 12.0 110,200
4 % 51 3.4 68,200 4 4 23 9.6 88,500
5| & F 2.8 55,700 5| & N 7.6 69,700
6| = = 6.8 62,400
2EICBITZIBEDY =7 71 A/ = 3.7 34,000
8| #% pos 2.8 26,000
9| BB & 2.7 24,900
10| = il 2.5 22,600
1| A o 2.1 19,800
12| & g 1.9 17,700
13| = A 1.9 17,500
14 18 iy 1.1 10,000
> 7 (hr~6067)
| OB N & | IREEEERE B | @ &
ha
8 =B #® R = 63,300 30 N E K BT FHr—V Y 10,400
2l B x B4 e 28,900 (% F E B4l s 10,200
3 o2 BT R = 24,500 3B X Kk BT B ] 10,100
4 5 | B+ B 23,900 4| # B OB A HR— VO 10,000
5l % K owm + B 23,000 3B R E m OB = 9,610
6] & R @ b AR 22,700 6| & & & d B 9,470
NE A ®m O+ s 22,500 37 B BT+ s 9,170
8| ¥ = H + s 21,400 38| B OB A Hk—V o 9,070
9l + & B+ s 16,000 9 2 B B e 9,010
0| & K& B+ B 14,900 40 B B m A R—V Y 8,510
11 # wW & R 7 14,700 411 H 5 H = = 8,380
11| & & @ g B 14,700 42| % E BT R 7= 8,210
1] B N - S N o s 14,200 43| oL HrE A = 7,830
14 @ £ @ TR =7 14,000 44 &= B TR =V 7,710
Bl 2 F B+ s 13,400 45| 8 R B m Lt N 7,480
6] 2 & W R = 13,300 45| £ B B BT AR — Vo 7,480
16 K zZ= H®H FK-—-V7o 13,300 47 £ 3 @k N 7,450
18] = & ® + B 12,200 48| & AL " K&+ e 7,120
9 = 3 # + s 12,000 o0 9 F BRI F k- 6,940
19 & & m R = 12,000 500 %7 ® B H = 6,720
21 = A 0N+ i 11,500 51 # s B+ s 6,520
21l 2 & m + B 11,500 52 B OB A R—V Y 6,330
23| R m + B 11,300 53 &£ ¥ BT fB & 6,290
24| £ £ 18 M + s 11,200 54| I B BT+ e 6,200
25 & = B R 2 10,900 55 A & BT OFE 5 6,100
25| B B H A K-V o 10,900 56| BE Bl  HT + s 6,060
21 & B B A ER—vy 10,700 57| & W B AT R = 5,920
28| = ® B A K-V 10,600 58| #= Bl H A K-V 5,680
29| 8 & W 9 2 10,500 59 = O R = 5,650
300 % B B E N 10,400 60 + m @H A ¥ 5,230
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i W] A

B | BN & | 5 | @ 1
ha

61| @ A HT =i =) 5,210

62| % H W L il 5,180

63 B & B A K-V s 4,800

64 B & B3 2 4,790

65| = ®& B Lk il 4,600

66| tER®BEH L il 4,550

67\ B &= W B iR 4,510

68| = tE 3 B R & 3,690

69| 8 L B A KR — v o 3,640

700 B & %= BT % = 3,590

71 & N Bk il 3,570

2 ¢ = A B L 3,450

730 & W Bk il 3,420

4 5 R R E % F3i| 3,400

VA I =R S - B = b5 3,300

76| 2 M A B = 3,220

77| F  ER HEI =i =) 3,120

P4 I S L A il 3,110

79 M A BTk il 3,100

80| ® B HE & # 3,090

81 B NI @ E il 3,010

8 5 & H L 2,990

g B2 ® &  #% = 2,990

84| & H b B B IR 2,900

85| & ) wm = F3i| 2,890

8| 5T B W A b5 2,680

87| mE R B HE Lt I 2,660

88| # #1 B £ = 2,540

89 m & HT % = 2,480

9f K £ # H B & 2,450

9af ¥ B B A b5 2,440

92( A & M HI A8 b 2,430

9 L ® ®w A b5) 2,420

U B F B N B = 2,390

95 & i 3 g 2,240

% £ & B @z N 2,180

97| B E ® B IR 2,120

98| = & a1 B % = 2,090

99 & R #B ET = i 1,980

1000 2 E ®wm £ b5 1,960
101 & L B 0z N 1,940
102 & = @ E g 1,910
103 1 ® ® E il 1,900
104 B8 (= ®E oz Bl 1,840
104 2 Y b HT =i =) 1,840
06| £ i o® I 1,810
107 & @ # 8 IR 1,770
108 = R % BT L i 1,730
108| & B F KT & i M 1,730
1100 W g @ E g 1,720
111 £ &) # & = 1,690
12| /@ ®B & & Ak — V7 1,630
13| & & B B # 1,580
114 46 & & ™ A ¥F 1,510
15| & & B % = 1,360
16| & )1 & = El 1,340
117 & /N % A8 = 1,240
117 = % B H % &= 1,240
19| B = ® B IR 1,230
1200 #+ % @r fB IR 1,170

CIEEEERE E #

ha
21 5 A z= Pl 1,080
122 ® & % & 1,060
123 & A 8 i 1,030
124 ' B f z= Pl 1,020
1250 7 H  fr z= Pl 992
126 #l B A7 #l b 948
127) &% U #r B = 936
128 # b B A 4 3 921
129 ¥ 1] Hr 4 3 902
130 =} # % i £ il 856
131 #& i) % & 828
132 = % ™ z= Pl 801
133 = &K fr % & 788
134( 7 + 2 )1l #T z= Pl 747
135 # B fr R = 740
136 /& 4@ HT £ il 703
137 = ™M 7 z= Pl 686
138 & Bk AT £ il 674
139 =® Il AT £ il 655
140 & =/ # £ il 625
41 i m® z= Pl 624
142 ¥ & z= Pl 584
3| & o N R & e 578
144 =z H# i) i b 540
145 & R A i b 511
146| A r z= Pl 498
147 B ] AT z P 471
148 x A A7 & 5 448
149 K & W AT E 5 425
1501 &t & fr z= Pl 406
151 # @7 A7 E 5 404
152 £ / i) & b 334
153 /v F H 4 3 321
154 M & H7 z= Pl 308
155 % & & & A 5] 303
156 #®% xR B H7 z= Pl 296
157| #& £ f7 4 3 284
158 B ®# 4 3 271
159 & 3] Hr £ n 270
60| & & M % e 264
161 & # H7 % & 249
162 BE #8 AT E 5 230
162 kb #H Bk N 230
164 £ B L] i 216
165 I &= fr & il 209
66| = MW AT % & 186
167 #% & 4+ f z= Pl 185
168| &= # I H z P 176
69| N B H % e 167
170 & ¥ z P 135
i & B f E 5 44
72| & ® OB % e 30
173 # &R H R “ 18
174 #) R & + f7 = = 14
75| ®oE M = al 12
76| AL X B R A 7
77| B NN % = 2
178 £ ® Il Hr z= 0 1
179 3t N # 7 0
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04 skt ERFmAS

Paddy field rice Planted area
e ®H bk v 7 5 & 3 x 7 W o 5 > F v T
e | gEERs | v 2 7 | @ i MEfz | B> = 7| m@ 1
% ha % ha
& 3| 100.0 1,469,000 it & & 100.0 103,000
1| # ] 8.1 119,200 1| = 3l 43.8 45,100
2l & E# = 7.0 103,000 2| I 28.3 29,100
3| H 6.0 87,800 3| A ¥ 7.0 7,240
4 = b 47 68,400 4| # & 45 4,660
5| & b 4.6 68,300 5| £ i 4.0 4,160
6 th 3.8 3,960
2EICHITRIEBEDS T ! iR 3.4 3,540
8| & B 2.9 2,960
9| H = 1.2 1,280
100 £+ —v s 1.0 982
11| + i 0.0 14
7.0%
biEE

i 0N S Y F v T (E~6007)

R g | @ 1 IREEEERE B | @ i
ha ha

Il &5 B R@ = bl 6,650 31l & & ® A 53 1,350
2l B 0 Wk N 6,160 (45 = #HH 1§ ik 1,340
3l owm o= M 5.230 33| = o ox Bt ) 1,320
4 &% HF om Ok i 3,590 Ul PERFEH Lt ) 1,190
5| wm+=2=Em = M 3,560 3Bl A B B = 0 1,160
6] 2 M W™ = bl 3,340 36 & 3+ 0w E 5 1,140
71+ B @k J 2,620 36| x= # T B = 0 1,140
8| % m m Lk 1l 2,550 8 4 T B B # 1,010
9 #F K E N A S 2,520 39 B R BT B ] 996
ol 8 ® #® = M 2410 400 5T B WA 5 940
1l & ®m & t J 2,310 41 = B Bt ) 926
12| # & 4 B = 40 2,250 42| ® B BT E ) 893
13l &= ) Bk J 2,210 43| f0 = BTk ) 872
“wm B B OO= 40 2,180 44 E BT B R ] 787
15 #% KR B B 0= 40 2,160 450 # W BTk ) 744
6 B R B = 40 2,120 45| tERBEH L ) 638
&' oW = 40 2,090 471 & B @ AR -—v s 679
18| W #® B % = 1,770 48| B R B @ L ) 612
19| B =~ ®E = 40 1,740 49| B E W A 5 562
200 & & HT % 40 1,710 50 B R £ BT A& i 541
21l & B ® =% M 1,650 51l £ 8RB E = 500
22 % B BT R 5 1,600 52| ¥ E ET H = 480
23| L BT % 40 1,570 B3l ® il wm = 0 457
24 £ M BT % = 1,550 B4l = K E % P 440
250 B Bl om0 40 1,540 55| 8 B 0w B 7] 439
25| @ A BT % 40 1,540 56| = B BB 7] 429
27l & #H BT & J 1,500 570 1 0™ B E = 421
28| € #= A AT il 1,480 58| Kk ¥ 0w 0= 0 406
290 & A~ b BT B 1= 1,420 59l B & ® H = 346
| F BB B 8 1= 1,410 60| N B EH E = 330




i WK 5 v F v F (60hi~10641)

IEEEEIE: H | & #
ha

60 = & o HY % & 330

62| R A AT £ N 311

63| A H M T i 5 290

64 & F H L] I 279

65 40 i Al A S A 263

66| ST = i 248

67 £ )il HT £ N 241

68| #r O 72 HT H = 235

69 ¥ £ M S A 233

700 B M & f7 % & 226

1 N L] B 223

A Iy i) i 222

B = F W z= Bl 204

74 % R H £ N 203

75 & i) & 5 197

76 K= H F R =7 178

7 oo B H = 161

8 b K B W =) E5) 150

o & O & 5 135

80 H E® H L] I 114

8l 2 & i) i 97

8l M E R %M £ N 97

8| + m ™ =) ¥ 96

sl 5 M om & = 84

8( T I HI £ N 74

8| M ¥ I BT FHK-—V o 63

g7l m 0w E » 60

88| W E 4 AT L] I 58

89 = M® HI For =7 41

0| ® WM E % = 39

91| B R Hy iy th 37

92( B A H H B 36

Bl & W OB % & 28

I - A i 26

95| &% W H = 23

%l L ® F A& # 22

v ' B E = 20

9% & H M & = 19

9 & ' B = A 14

9 & ¥ B & = 14

01 = ¥ 8 & = 8
02| N8 & 7 7
103 £ @ w8 i 6
03 & ® My + i 6
05| ® B B % = 4
06) % B &+ B 0
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05 k%t UEER

Paddy field rice Production
& B F v 7 5 & ¥ z T w oz v F 2 7
e | wEmRE | v = 7[R E B Mgtz | s gy = 7| ® =B
% t % t
& = 100.0 7,762,000 it # E 100.0 588,100
1| % = 8.3 646,100 1| = Pl 44.6 262,300
2l & @ & 7.6 588,100 2| £ )il 29.6 174,300
3| ™ H 6.8 526,800 3| A L5} 6.7 39,600
41 1 Y2 5.2 404,400 4] #* & 4.2 24,700
5| = R 4.9 376,900 5| & 3 3.9 22,800
6 b 3.4 20,000
2EICHTZLiEEDS =T ! i 3.1 18,400
8| & 5 2.5 14,900
91 H = 1.1 6,640
10 &% =V 7 0.9 5,350
1| + 2 0.0 67
7.6%
T
WM S Y F AR~606D)
AR E: e IREEEERE g | X & =
t t
i B N £ N 38,300 3 B B M 8 ¥ 7,220
2l & R OR @ = Bl 38,200 RlAE B W A 5 7,100
3) & T = AN 31,700 33| HERBHE £ il 6,970
4w F W £ N 22,000 341 R r z= Pl 6,770
5[ #r + 2 Il By = AN 20,500 3Bl & F L M z= Pl 6,660
6| = M| T = AN 20,100 36| & & M & b 6,440
7E BoOH = Bl 14,900 37 & W@ = 5 5,930
A =T S )} £ N 14,900 B = o H + N 5,690
of # ® 2 M a Eb) 14,600 39 W MR 4 3 5,540
0 £ # & £ N 14,400 40 /v ¥ B 4 3 5,510
11 B & 8 £ N 14,200 411 }1 & H7 £ il 5,120
12| % & 4+ B = Bl 13,500 421 5T 3 ™ A 5] 5,060
13| = I £ N 13,300 430 & 5 Ay £ il 5,020
14 % R 5 f7 = AN 13,100 44 W& BT OHT 4 3 4,350
15| " ® f = AN 12,800 45( & W AT £ il 4,330
6 & N = AN 12,400 46| L E R ¥ HE £ il 3,990
17 B 1] fr = AN 12,000 471 & R I A4 3,720
8 & ® H = AN 10,500 8l B R & W £ il 3,450
19 @ # % & 9,230 49 B SR AR AT & b 2,910
200 | 1= % AN 9,170 500 & E A ¥ 2,860
21l & #®  H £ N 9,070 51 ® I @ z= Pl 2,630
22 B B W = AN 9,060 52 s Ex  HI B = 2,560
23 & B H a Eb) 8,620 53| £ AR HJ & 5 2,470
24 # M H % = 8,520 b4 B B 4 3 2,440
25| B = AN 8,390 55 & F @ z= 0 2,380
26 | L HT = AN 8,200 56 = Bl T 4 A 2,370
271 &= A& H = AN 8,070 57/ = K H % & 2,350
28| W R X M £ M 8,030 58 & A M & 5 2,000
29 & M b HT L] I 7,630 59( MR hn A HT £ N 1,890
30 & /o A HT i 7,610 60| H (ST | = 1,780

- 11 -



L L AN

B | BN & | e
61 AN =B B E = 1,750
62| = & o B #% = 1,660
63 £ I B Lk I 1,510
64| %0 W B A B # 1,460
65| &* ¥ AT JE IR 1,450
66| K & A B E = 1,390
67| 5T = H L 1,300
68| 12 M &= B % = 1,200
69| ¥ £ B B # 1,180
00 oL AH B H =) 1,170
71 = ® B L I 1,140
7= %5 @w = F3i| 1,130
73l =& 0w B iR 1,110
740 £ i3] L 1,100
75| & BT = 1,010
6 K = B Ak —vV s 974
77\ B B R =) 839
78l & K B W A b5, 755
9 K H N % &= 726
80| mERBE Lt I 578
81| H+ ® m BB IR 576
& F m ® & E5) 465
83| z B H L 453
84l &= W H % &= 428
8| F Il E L I 404
86| I F /BT Ak — vy 320
87| m #E wm  E g 276
88| A == M mT B IR 260
89 = W E A K-V 239
9 2 MW AN H % &= 200
9l 5 W B B = 176
92 B R/ H il 173
Bl &% ®m B % i 147
% & F B B IR 116
9% &K W H =i i 114
% L ® T A bS] 113
9l ®m B B E g 88
Bl B H K &% = 83
¥ ¥ K& W = bl 67
1000 & ¥ ® % = 66
101 &2 ®» # #% = 40
102 v &8 @ % & 34
13l 5 = 7 + iy 27
104 = B & B I 26
105 = #& My % &= 20
106 w7 =& ® + B 0

F
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06 JkkE  10a272 0 &

Paddy field rice Yield per 10 a
& EH kv 7 5 W o z v F v U
e | BERRE | W g Mgtz | s 5 | =

ke ke

£ = 528 it # E 571

1 & ELS 627 1] t il 599

1| iz 627 2| = Pl 581

3] & 2 620 3| & L] 549

4 H 600 4 A S 547

5 & & & 571 5| # 4k -V 2 545

6| #® & 530

e . ! iR 520

R E={E e /A ) 8 ‘E| = 518

® 9| E 5 504

9| 1@ il 504

EES 621 11 + i 476

1152 &1
R e
I 600
sd | I 57
| >
0 600 (kg)
i WK S 2 (~60hD)
AR E: B | W 5 IREEEERE o | 2

k k
1 £ ) H7 £ N 626g 3 & R R ™ = Pl 575g
20 B I T £ N 621 3 B @ = Pl 575
20 B | = AN 621 33| @ MR HT z= Pl 564
4 E MW OH £ N 615 | B R ¥ £ il 563
5] &= B £ N 614 3Bl ® B M £ il 562
6] & F £ N 613 36 £ FH £ il 561
6| & = H = Bl 613 37 |l H 4 5 556
8 R M X M £ N 609 37\ 40 W B A 4 3 556
9| M M A A £ N 608 9 B #B 0w 4 3 555
101 #% R 5 f7 = Bl 607 40 = % 0 = Pl 554
e =x= W % AN 606 411 & BT H 4 3 552
12| kb #  H7 £ N 604 20 £ B £ il 551
13| % & 4+ B = AN 602 421 = 5 A7 4 3 551
4 % ™M H = AN 601 44 H M mH % & 548
15| = )i T £ N 600 450 & B W I A4 547
16| mE R %0 £ N 5396 45 K = AT I A4 547
w = N W % AN 595 471 ™ Hr £ il 546
8 5 A5 @ % AN 588 48| W B H z= Pl 545
18| " = f = AN 588 49 /v E T 4 3 544
20 &= # I H = AN 587 50 5T B @ A L5} 538
20| FERBH L I 587 0| % B B & 5 538
20071 & | £ N 587 50( #& H I A % & 538
23 & F 0w = AN 586 50 & » bH H 8 ¥ 538
23 & MM £ N 586 54 E R B T i il 537
251 A & m = AN 583 55 = K T % & 535
25 £ M| M F R =7 583 56( + Ex  HI B = 534
27 & W H £ N 582 57( B x Z= H % & 533
28| M & &2 M =) ¥ 581 58/ /\  F M icd 5 530
9 LtERHBH £ N 580 59| | (= M z= 0 528
0| H+wE % A 576 60| &8 ® ® & 5 525
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i WK 5 v F v F (60hE~1084L)

EEEEEIE 8 | =
k

o & w W@ s 525

62 ST = f i 524

63| | W HT = AN 523

64 &t A it 5 521

64 # oo B H = 521

66| B M B % e 520

66| &= F H L] I 520

68| t 7o A& HT i 515

69 AL M’ ™ a ¥ 514

69 B & H H = 514

T R omom B % e 513

7B E L] I 511

73| & i) & 5 510

] =R = 510

B EOE W a Eb) 509

6 AN F B ARV 508

¥ %0 i A 507

78 ®EH L] I 505

9t K B W a Eb) 503

% = & o H % & 503

sil B ¥ M & e 500

81l = @ B % & 500

81 = B H F R =7 500

84 F E T BB i 497

84| H O 72 HT H = 497

86| & M HI H = 496

871 £ / i) iy th 495

83 t #R AT & 5 493

89 B W AT H = 489

9 £ A = Bl 488

9af N B/ ® ® & 486

2 ¥ & ® & w 484

93 & & Hr i th 480

% ¥ & W = AN 479

95| A & A AT E = 478

% & A @+ B 417

v 7 E M + i 476

9 & A H i 5 475

M9 H F ® & 473

100 & R A7 8 ik 468
101 z & & i 467
102 & f8 ® E = 460
103 A %= M & 48 i 448
104 & B & i) b 446
105 & & f it 5 440
106) £ W @ i) b 435
06 & K M % = 435
108 ¥ 1§ A7 + s 125
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07 /N fERFmkE

Wheat Planted area
£ EW| kv J 5 & 3 1 7 W o 5 > F 7
e | gEERs | v 2 7 | @ i MEfz | B> = 7| m@ 1
% ha % ha
% £ 100.0 211,600 it & & 100.0 121,400
1 & & & 57.4 121,400 1| + B 35.2 42,700
2 = fif] 6.9 14,700 2l R —v 7 23.5 28,500
3| & = 49 10,300 3] = E3ll 15.7 19,100
4| B 3.0 6,450 4| E )l 12.0 14,600
5] = B 3.0 6,320 5| A Si 7.6 9,180
6| f8 iR 1.8 2,130
LERICEIT3EEDY T 7 # > 1.5 1,850
8| & iz} 1.5 1,790
9| 1@ th 0.8 1,030
10 4l iz 0.2 249
11| & = 0.1 167
12| 1R = 0.1 76
131 H = 0.0 47
> (1hr~604%)
JEf | T IREEEERE B | @ #
ha
1l = 2 BT + B 6,650 31| @A 1= iy = E3ll 1,340
2| & N bl + B 6,410 32 F R il a Si 1,320
3l ¥ = E O+ B 6,170 B wE 2N A ) 1,290
4 =5 R R ™M i %0 5,440 3 & =] i + i3 1,200
5| dt 8 bl FHE =V 7 5,420 35| #I o iy + JI 1,070
6| = bl BT + B 4,020 36 B I il + JI 1,040
71 K i iy FHE =V 7 3,660 36| A Si il a Si 1,040
8| = B iy t I 3,210 36| &= F iy iz} = 1,040
9] H billl BT A 53 3,190 391 @ = i + i3 912
10| #@ £ bl TR =7 3,160 401 I F K OET TR =7 906
1| & K« B+ B 2,940 aal = AL owm o + B 877
12| & A BT i %0 2,920 42| v 8 R ¥ &y + JI 824
13| #} BT FHE =V 7 2,910 43| I il = E3ll 822
13| /N F K BT FHE =V 7 2,910 44 £ B B B TR =7 756
15| & 8 iy TR =7 2,500 45| & I il = E3ll 748
16| == 1% BT FHE =V 7 2,420 46| = 29 i) TR =7 127
171 =& bl BT + B 2,370 47| HE = il a Si 697
18| + 1% BT + B 2,310 48| B Al i) TR =7 685
19| = e bl i %0 2,070 49 £ + 1R M + i3 627
200 R B m t I 2,060 50| B o X H + JI 599
21 b H BT + B 2,050 51| % = Ol + JI 579
22| *+ billl bl t I 1,960 52 & Il i) TR =7 576
23| & bl I + B 1,860 53 & = i iz} = 541
24| EE R ¥ M t I 1,760 54 X 18t i + i3 526
25| ® 1% i iy %0 1,660 55 = il il = [ 504
26| & B8 i + B 1,590 56| 1B %1 Z&¢ M7 % & 498
27| B 1% i + B 1,550 57| #r = il + s 487
28| T billl bl A 53 1,520 58| %k B 4 T paz) E3ll 475
29| ZE 1L i iy %0 1,490 59| B R &8 Hr i} th 427
30| # billl i FHE =V 7 1,460 60| & i i) TR =7 417
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i 0N 5 v

B | BN & | 5 | @ 1
ha

61| B iz iy iy psil 416
62| m B B % % 382
63| #0 ES iy + I 380
64 + A iy % & 349
65| ¥ 1% BT = 3] 343
66| E =] iy i bl 328
67| # L B AN = 3] 327
68| 5 & iy il 312
69| = S iy + I 295
70| mER B + I 266
70| & Bl i = 3] 266
721 /I F iy = 3] 244
73| A H iy iy psil 215
T4 B R B OH i bl 209
51 F I iy + I 192
76| A+ E I AT i bl 190
A B A 1] i bl 181
78| BE bl i + B 169
9 B2 B K & % 164
80| = vl bl iy bl 162
8l & » b Hr Jilz] b 161
82| 7 = il Jilz] b 156
83| it £ iy i bl 146
sl 2 mom BT % % 125
84| ™M o) iy i bl 125
8| = & o M7 % & 118
87| It (=3 iing Jilz] & 112
88| £ / iy il 99
sl L 8 H & ¥ 94
9 & 7= & My il 93
9| B F # & % & 93
o W m & % % 92
93| MR AN A AT + JI 85
94| B Al bl iy bl 76
94| T = i) o 1L 76
96 A/ HT + I 73
97| & i3] bl 2 i3] 68
o7 &£ & w E & 68
97 X i iing + JI 68
100| #& BT pES = 62
101 #* F M iy bl 60
101| b Fal iing + JI 60
03| A &% % 87 8 iR 55
04 2 % B f8 iR 52
105 s 2 2 B R = 45
06| & = & & A ¥ 38
107| Al piezS iy 1R = 31
108| #r = iing H = 20
100 & A %® B g iR 18
110| # il iing + JI 13
111 = x 5 #H % o 10
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08 /hE s

Wheat Production
& W kv J 5 & 3 x 7 W o 5 > F v T
e | wEmRE | v = 7[R E B Mgtz | s gy = 7| ® =B
% t % t
S | 100.0 1,037,000 it & & 100.0 677,700
1l &t & ®E 65.4 677,700 1| + i 37.3 252,600
2| 1B i 6.6 68,900 2| Ak — v 2 28.3 191,700
3| & i 45 46,200 3| = &1 13.4 91,100
4 = M 3.0 31,600 4l E I 9.4 63,600
5| = = 2.2 23,000 5| & 1 6.7 45,600
6| B8 iR 15 10,100
2EICHIT2ILEBEDS = T 7| % P> 1.4 9,730
8| = G/ 0.8 5,540
9| 1& t 0.7 4,950
10| #i % 0.2 1,500
11| & = 0.1 875
12| iR E 0.1 366
’ 13| H = 0.0 166
65.4%
bEE
m W N3 > F v T H~6060)
AR E: e IREEEERE g | X & =
t t
1l & & ™ + B 40,500 31 # & E N a) 5 7,070
2l & ®E H + B 38,300 R F ®m @ A b 7,030
3l ¥ =2 om + B 34,700 BT B 0w A 1 6,720
4l B W O AKx—vs 31,800 4| AL A"+ B 6,090
5l kK = B Ak -—V7 26,000 clo] I 1/ R I 6,020
6l &2 R R ™ b psil 25,200 36| @ F A B s A4 5,970
71 & B @+ B 24,000 37| ¢ 0 m + B 5,150
gl M@ =& W A K-V 23,500 8| = ¥ E jE iR 4,720
9| M E K BT Ak — V2 22,900 9| hERHE L I 4,660
100 ## 2 B FEK-—V2 21,500 4| £ 2 B FEk—V2 4,530
11 =  ®m  § i I 18,800 41l /7 8 ™ v S 4,190
12| B B HEk-—V7 17,200 23 B B FER—V2 4,120
13| % 3 # A o5, 16,200 43 8 W m I 3,920
14 & B ® = M 15,700 B F OB FER-—Vs 3,860
15| £ & E Ak -—V2 15,600 45| B OE B A 1 3,750
16| & K B+ B 14,500 46 B ® B k- V2 3,480
7| & 3 #  + B 14,000 4711 x ®  m + B 3,390
18| . @B # + B 13,300 48 £ + i omr + B 3,220
19 £ & #  + B 13,200 a9l 1 0m o= il 3,040
200 & 3 0N+ B 12,200 s0| 58 I 0wk I 3,010
21l 8 B & ® k I 10,300 51| 18 ®  + B 2,850
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Wheat Yield per 10 a
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Autumn wheat Planted area
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Autumn wheat Production
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Autumn wheat Yield per 10 a
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Spring wheat Planted area
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Spring wheat Production
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9 8 £ M F R =7 1,120 o 5 &= B & b 184
o0& 8 B F A& 5 959 50| ® MY AT 7 182
21 a = AN 916 51| M E R B M £ il 160
2| 8 F A B FA-Vs 898 52| mo®M M % = 156
23 B EHE m L] I 819 53| &= H L T z= Pl 155
240 = B @ £ N 739 541 R r z= Pl 145
25 F  E M + i 673 55| /N E 0 H] 4 A 137
26 E R #8 HI 8 i 652 56| B M % & 118
21 MEREMH £ N 640 57 # & =2 M vl ¥ 115
28| F@ MR H = AN 579 58 0B ] z= 0 73
29| & W HI £ N 564 59 AL ] A 5] 66
30 & B H ] B 535 60 = % @ z= 0 64
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68 & H bHh WY Jilz] b 42
69l = & o H #® & 41
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Spring wheat Yield per 10 a
ALiEED 102 72 D UL B DHER o 5 v F T
& E | W = Mgtz | s 5 | =
ke ke
FR264 331 it & & 372
27 333 1l k- v s 471
28 313 2| & 55 391
29 312 3| = Pl 360
30 198 4 E 5 342
S M T & 372 5| BB IR 335
6| #® & 334
7| 1@ b 319
10a7 Y INE (L) (I " o
(kg) N 10 B [ 243
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¥ X\ o33 mw
m —
198
0
H6 27 28 29 30 R (&)
i WK S Y v (R~584D)
AR E: B | W 5 IREEEERE o | 2
k k
Il N F K B F R =7 528g 31| A MR H + i 355g
2l ® 4o0H| = AN 518 M5 ¥ N % & 354
3) WM E W F R =7 509 33 &F B M + i 351
4 KX = H F R =7 507 4 & B R @ = Pl 343
5/l F K§ E F R =7 499 4 B A M % & 343
6| & £ F R =7 494 36| E R B M i b 340
AT )} F R =7 490 37 & A H z= Pl 333
8 m - HI z= AN 488 38 B x = HI % & 331
9 B E a Eb) 474 38 E B M i A4 331
9 B E & F R =7 474 40| & K A H i b 326
11 & 1] f = AN 471 400 m &y % & 326
12| mE R %M £ N 457 28 F & + i 325
3 F m® a Eb) 450 3 = ¥ W z= Pl 321
4 & F f F R =7 445 4 M 0w i 5 317
15| 2 R 28 £ N 435 4 L ER FHE £ il 317
6 T # a Eb) 431 46 & H AT A 5] 315
7 4 B ® F R =7 424 471 I i) £ il 313
18 £ m @k I 404 18l B B OB I 308
191 A B = AN 403 49 & H  Hr + i 306
200 R & M H F R =7 398 50 &= # L M1 z= Pl 292
21l 2 ™M H = AN 397 1| %7 & 2 A A L5} 288
2l B & | % & 393 52 ST = M i b 286
23l B R ® @k i 382 K] =T A T = oot 282
24 bt K B ™ a ¥ 377 54| & » bH H 8 ¥ 280
250 = &% W = AN 376 55 B & # M % & 271
26| 7 E W L] I 371 56| & Ak HT + i 268
2711 & =® + i 364 57( & Bl T 4 A 264
28 5 = H & i 359 58| = & o My % & 259
290 &= F H L] I 358 58| % A1 H % & 259
29 # 5 B + 7 358 58 40 i B A £ A 259
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61| #I H iy + I 256g
62| £ iy il 252
63| & Bl BT = 3] 250
64| Hr + 2 Il B i bl 243
65| #L 1% il A 5i 237
66| ¥ 1% i = 3] 236
67| & JI il iy psil 223
68 /I F iy =2 3] 201
69| & I M + B 192
70| #0 ES iy + I 183
71 & = il + JI 178
71| = S iy + I 178
73| £ bl il + JI 171
TAl B ow O + I 145
75 B Al bl iy bl 133
76| 3] M = 3] 127
77| 18 J il + JI 115
78| % HF 4 H i bl 110
79| & 17 i + I 109
80| =# JI bl iy bl 94
81| & =] iy i bl 86
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Soy beans Planted area
£ |k v J 5 & ¥ 7 W o 5 > F v T
e | BERRs | v = 7 | @& # Mgtz | s B> = 7| m@ b
% ha % ha
% 3| 100.0 143,500 it & & 100.0 39,100
1 & & & 27.2 39,100 1| =z 40N 26.3 10,300
2l = b 1.7 11,000 2| + i3 24.1 9,410
3] & H 6.0 8,560 3] Lk JI 19.3 7,540
4 5 3] 5.7 8,250 4l A o] 7.4 2,910
5| f& = 5.4 7,820 5| ik — v 4 6.7 2,630
6| % &= 4.6 1,800
LERICEIT3EEDY T 7 & il 4.2 1,630
8| pB iR 3.8 1,490
9| B [ 2.2 852
10| E = 1.3 496
11| B = 0.1 48
12| 4l 23 0.0 17
27.2%
iEE
mo Nz v F v T ARE~606D)
AR E: W | & # IREEEERE o | & fﬁ
ha ha
1] & B iy i %0 2,670 31| &= = il a Si 428
2| & 2 iy + B 2,310 32| K = i) b A4 425
3] £ bl bl + I 2,140 33 & =] i + i 415
4 F R R @ i bl 2,040 34 & = A B = th 383
5] = e bl i bl 1,570 35| 1B %1 2= M7 % & 371
6| W N M + B 1,270 36| & B i = [ 368
7| H iy + I 1,140 37| M H i + i 343
8| #F = iy + B 1,030 38| ZE th i) = g3l 342
9| 4t 8 bl FHE =V 7 796 39| /N E K HET F R =7 294
10 + 1% BT + B 763 400 = + o HT #® & 288
11| % = bl + I 757 40 = Al i) b A4 288
12| £t E R ¥ H7 + I 127 42 £ + 1R MY i3 283
13| /8 I bl + I 686 431 & bh Wy iz} = 280
14| =X bl iy + B 673 44| Fr = i + i 274
15| %= bl iy + B 656 45| FH | i % & 271
16| 1z i) s bl 643 46| = LEnt i % & 255
17| ®& 5% iy i bl 642 47 & I il = g3l 245
18| = F iy Jilz] b 625 48 t £ i) = g3l 234
191 F+ R M A 53 617 491 = % i) b A4 231
20| ¥ & 2 N A ¥ 604 50 A H i) = g3l 224
21| = 1 iy t I 600 51| '@ % i + i 220
22| ES iy t I 582 52| & Al N} + i 203
23| H billl iy A 53 580 53| I3 i + JI 184
24| T billl bl A ¥ 567 53| & g i) b A4 184
25| B SR £ Hy i il 538 55| B8 2 il % & 180
25| & 7K iy + B 538 56| # + 2= Il BT = g3l 176
271 & B iy Jilz] b 529 57| dt N il B 5 173
28| # JI bl iy psil 482 58| P Mg 7 2 i3] 169
291 B F iy iy psil 471 59| B B il + i 166
301 5 & iy o il 455 60| A s Ol F R =7 158
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6| & = i) + B 102
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79| T = i) il 76
80| = R ¥ H t I 67
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82 & & B m™ A 53 59
83| M B R B A + I 57
84| <& B iy il 55
85| & B w & = 54
86| J\ = i) E = 51
86| B & B ET % 50 51
88| k I i) + I 50
88| K 1t iing + B 50
90| & il iy + I 49
90| & =l iing #F R 7 49
92| # =24 iy 7F K 7 46
93| R’ = iy P %0 43
ol = B B i 42
95| == bill iy + I 41
%| B wm ®w = i 37
97| E o H B i 36
98| MR N AN HY t I 35
W A FHFE O FER—-V7 29
00 # ¥ @ = 51 20
100 = # X H t I 20
102| & bill iy #F R J 7 16
103 &% F B H Il iz 12
04| B 3 @ = 50 1
105 # kM i bl 0

=
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Soy beans Production

£ |k v J 5 & ¥ 7
B gEmRs [ v = 7| m B =
% t
2 &3 100.0 217,800
14 & @& 40.6 88,400
2l = Ik 6.9 15,100
3 H 6.4 13,900
4 1= i 4.1 8,830
5| %% = 3.6 7,830

2EICHIT2ILEBEDS = T

i 0N 5 v
AR E: e
t
1] & A iy iy bl 5,900
2l & 3 BT + iy 5,740
3l & R R ™ iy bl 5,250
41 =+ bl il + JI 4,160
5] = ig M iy psul 3,700
6| &= I M + B 3,330
7| H iy + JI 2,760
8| IF = BT + iy 2,660
9| dt 8 M FR=V7 2,090
10 =+ 1% iing + iz 1,830
11| £t E R ¥ B + I 1,730
2ls 3 ®m o+ B 1,650
13| & 1% iy iy bl 1,600
14| % = bl + I 1,590
15| 1z iy iy bl 1,580
16| T bl M A 5i 1,500
6 % 3 ®m A 5 1,500
18| = 1 iy + I 1,420
19| F R M A 5i 1,390
19| %= F iy Jilz] b 1,390
21| K iy iy FHE =V 7 1,280
22| 18 JI M + I 1,220
23| # JI M iy bl 1,200
ul woE &2 H  F 5 1,170
25 A iz iy iy psil 1,140
25| & kK B+ B 1,140
2711 & 3 B+ B 1,130
28| &= e il A 5i 1,110
29| #0 ES iy i JI 1,100
301 E = i Jilz] b 1,030
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1| = Pl 27.0 23,900
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3| £ il 18.0 15,900

2 I i 4 8.3 7,320

5 & L5} 7.8 6,890

6| #® & 4.7 4,150

U E! ¥ 3.5 3,100
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4 & tE M + i 896
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54 Jt  w T z= Pl 357
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59 k& A T £ N 331
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72| & iy B = 219
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Soy beans Yield per 10 a
£ JW kv J 5 W o 5 > F 5
M| wEFEE | W = MEf | 5 | =
ke ke
& | 152 it B & 226
1l & & & 226 1| #H&—v 2 278
2| 3 B8 174 2| & o, 236
3| = 12 173 3| + B 234
AR M 162 4| =z & 232
51 & 7 161 5| #% = 230
6| + )| 210
7| B i 209
o 2EFF» Sy 75 8| B 206
(HREATR) ol g = 194
10| & = 180
g | 225 111 1@ i 176
. 12| = i 155
R 174
B m
FEH 162
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| _
0 200 " (ke)
w0 Bz v F 2 F (E~60hD)
AR E: B | W g IREEEERE | g
kg kg
1% 2 B Hh—v2 321 30| m = B oz 3 245
2| N K BT ARk — v s 320 B F OB A k-2 245
3l 8 B OB A k—v s 312 B & M ® E )| 242
4l FERBE b I 301 ul B ® o oEm o= 3 241
4l K =B B AR —v s 301 3B £ w ® + B 240
6|l B B B A k- s 289 3B A # B+ B 240
7N = ®m B % = 277 37| tER®HEH E )| 238
8| Il F K ET i N/ 272 38| E W H + J 237
9l £ wm B A K-V s 266 9= m wm = 3 236
wsT B w A S, 265 9 = xR OB % & 236
1l £ 8 & HA+x-vs 263 41| &= o % B £ )| 235
1l # 2 M B A%x—v 2 263 2 =+ a8 % & 234
1Bl % nm F  F B 262 2 £ o Bk )| 234
1l ® gE & & S, 259 Ml B FE BT % 230
Ml % B B OO#" b5, 259 45| kB 4 B = 3 227
5 = B+ B 259 46| F ®m W A o, 226
17| # B R & = 40 258 46| z= £ T B = 3 226
18| 18 m om Bt I 254 46| B B M+ B 226
9 EER®HE Ot I 253 49 &£ ¥ E B i 223
200 2 3 B+ B 252 ol £ B B o= 3 221
21 2 m = BT = 251 51l 2 B % )| 220
272 B ® # = 250 B = %= @& 0= 3 219
Bl W EF w A R—vy 249 53 1 0m o= 3 217
232 M @wm = 40 249 54 o B Bz 3 216
23| B R mp oz Z 249 o B 216
23l v & B I 249 s6| B & B+ B 215
270 2 ®m BT Ak —v 2 248 57 5 i m + B 213
21l & ' W + B 248 58 o L B AN B i 212
291 B AL N N + B 247 58| & Kk HT + i 212
| B F H H % = 245 0| & = @& )| 211
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63| % (= iy + B 208
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65| & /N ¥ ™ Jilz] R 205
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67| H iy + B 202

68| = bl iy + I 200

69| #r + = Il By i bl 199

70( dt 2} M pES = 198
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13| F X iy H = 195
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| woEEH & 55 194

78| & il i + I 192

79| # ES iy + I 189

80| ¥ 1% iy = 3] 187

81| & 3] M = 3] 184

82| A H iy i bl 182

83| f8 JI il + I 178

84| £ / iy il 177

85| A A iy B = 175

85 J/\ = iy pES = 175

85| B R #® B @ it 175

88| % 53 il iy bl 173

88| #t | iing % & 173

90| & E iy il 172

91| T = i) G 1L 168

91| & bl iy + B 168

93| #* iing E = 161

93| B =] iy i bl 161

95| = JI iing + JI 156

9| ¥ 7= & Wy il 155

97| & % iing + B 154

98 it o) iy i bl 153

9 A ¥ bl A 53 150

000 % % B & # 148
101 % s BT + I 143
01 & # & & G 143
103| = F bl iy bl 120
104 W = iing 2z %0 114
105 & bl bl iy bl 100
106| /I F iing 2 i3] 82
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Sugar beets

Planted area

e B i & b i H fE o 5 v F T

e | BEmRE | o 7 | @ 4 I g | = 7 |m B
% ha % ha

2 = 100.0 56,700 t & & 100.0 56,700

1l & & & 100.0 56,700 11 + i 43.9 24,900
2l KR =V 7 40.2 22,800

Wi RIS 3| £ n 6.0 3,420

41 BB i 2.6 1,500

Zoft [\ 5| # o 2.1 1,200

10.0% 6| A 13 2.0 1,160

7| =z 0 1.0 577

5 8| 1@ b 0.5 295

£ I ,— T B 9| 4l B 0.5 287
6.0% 43.9% 10 & # 0.4 208

11 & = 0.3 157

100% 12| & = 0.2 114

13| H = 0.1 41

A=y
40.2%
o WK S Y F v T (L~606D)

AR W | & a IREEEERE g | m fﬁ
ha ha

1l & 8B ™ TR =V7 3,450 31l &£ ¥ i} e I 424
21 @ £ W TR =7 3,110 32 th & B Hr TR =V 7 422
3 & K™ + B 3,070 33 B M %= H % = 417
Al 75 E M + i 2,900 33| B Wil 7 TR =V 7 417
5| & B H TR =7 2,850 3B| F E W e i 350
6] X = Lin) TR =V7 2,830 36| £ = R M + N 345
7] N EF K OET TR =7 2,770 3N B B i} e I 288
8 F EF M + i 2,760 | & FE M i B 287
of £ 18 B A FH-—Vy 2,350 9| B E T A 5 267
o & 5l i} + i 2,210 40| SR E M HT e I 255
111 & B m| TR =7 2,170 a1l = B i} + B 239
12 £ 18 H7 + i 2,100 2] B F W % = 222
13 & 3 M + i 1,870 43 &l i 7 + N 216
14 & 18 H7 + i 1,530 4| = B’ 7 TR =V 7 213
15| & Kk B+ B 1,270 Bl B B N % & 204
16| &~ 3l i} + i 1,260 46 R & i} % = 197
17 &+ # A~ # + i 1,120 47| H = 7 %= wl 195
18| B2 & W + i 1,060 43| # B i} + B 174
191 £ B H s M 1,000 49 18 )l M + N 145
20 b H i} + i 984 49| #& i} & = 145
21 & Al i} TR =7 803 51 &  # i} Ui b 134
22| A F OAF HT TR =7 773 52 T Al M a) ¥ 128
23] £ &+ 18 HT + i 735 52| &= &l i} &3 ] 128
24 = B 0™ s M 696 54 & &l bl TR =V 7 127
250 + =m0 ral S 674 55| B R % AT + N 126
26| & tB H7 + i 566 56| & R R M z= 0 112
27 K & H7 + i 526 57 ™ 1% 7 z pl 108
28| 8 R B W s M 493 58| M = R % AT + N 103
29 B =& Hr + B 463 5 & » b H e i 101
[ E & H TR =V7 455 60| B R EB T g b 100
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IEEEEIE H | & #
ha

61| = % % BT % = 99
62| & H W £ N 94
63 B L H F R =7 84
64 = & H £ N 65
65| W R X £ N 63
66| = B HI a Eb) 61
67| & Bl H S A 60
68| &= A M z= Bl 55
69 B B HI + i 42
70 M & H £ N 39
1 2 B B L] I 36
2 E  HOHE = Bl 35
1N I A i 31
T4 B fo A HT i 30
750 F M H % & 23
BE L B = AN 23
nlE® B F A& # 22
7 R 2 = Bl 22
9 = & 3 B % & 18
80 & NI T z= AN 15
sl # W % = 10
81| W W m % % 10
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Sugar beets Production
g W i & b ifF aE i WO 5 v F
e | wEmRE | v = 7[R E B MEfz | gy = 7| ® =B
% t % t
& E 100.0 3,986,000 it B & 100.0 3,986,000
1l & & & 100.0 3,986,000 1| + B 42.8 1,705,000
2| Ak —wv s 42.3 1,686,000
R A 3| £ NI 5.9 235,200
4| g8 i 2.3 91,000
o :
0t 5| & 1 2.0 80,400
6| #% = 1.9 76,600
7| =z %0 1.1 42,000
| ’
£ Lo 8| % % 0.5 19,700
5.9% %5 9| & il 0.5 19,600
42 .8% 10| = £ 0.3 13,100
11| & =) 0.2 7,830
12| #& = 0.2 6,990
13| |8 ) 0.1 2,250

FTHR=Y7

42.3%

NS F v J (E~6007)

AR E: e IREEEERE g | X & =

t t
it B @ F R =7 249,600 31 & B H i A4 26,700
20 @ & W A K-V 7 241,200 R B2 ¥ B+ s 25,900
3f KW + i 227,300 33| B a1 &= HI *® & 24,400
4 KX = H F R =7 223,300 CZA - i 8 i 23,900
5/ /N & K T F R =7 222,200 3B| EERHFH £ il 23,700
6| & £ F R =7 206,700 6 # E W 8 i 23,500
NE OE M + i 204,900 37 B F B O #l 5 19,700
8| F = M + i 201,200 38| A =& 4 M 8 ¥ 17,500
9f = 18 B F R =7 169,000 9| B OE W a ¥ 17,400
100 & 5 + i 156,500 40 B F # *® & 15,400
1 % 2 m F R =7 155,600 aE B ®H 8 ¥ 15,100
12l & 5 M + i 140,400 2 K R f + i 14,700
3] £ 1] fr + s 132,300 43 & W AT £ il 14,300
14| B ) & + i 97,000 Ml E M #*® & 14,200
15 & AL A" M + i 89,800 45 B = ] z= Pl 14,100
16| & & H + s 77,200 46| m &y #*® & 12,800
17 = B/ £ N 75,400 471 = ®  Hr I A4 12,300
18 &= 5 1 + i 73,600 48| # 5 + i 11,000
9 B & f + i 67,100 49 8 Il T £ il 10,700
20( 8 H HI + i 66,500 50 5T B @ A L5} 9,430
21 #= B H F R =7 56,200 51| #E R &M £ il 9,350
221 A ¥ WM O F R =7 53,900 520 & & & b 8,520
23 F m =) Eb) 47,400 53 & R R @ = Pl 8,380
24 £ = 1} H7 + i 43,800 b4l & B I A4 8,330
250 = B 0@ £ N 41,400 55 F@ MR HT z= 0 8,030
26| & B H + i 39,400 56 = Bl T 4 A 7,340
27| K #&  H + i 34,600 57 #& i) & 5 7,040
28| E R B £ N 33,900 57( E R & T 8 b 7,040
29 B F m F R =7 27,700 59 & FHF 0™ £ N 6,990
| &£ & M B F R =7 27,600 60| = X Bl H % & 5,900
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i BB 5 v F v F (61E~81hD)

B | BN & | e

t
60 & H bHh WY Jilz] b 5,900
62 M E R A + I 5,670
63| & + iy FHE =V 7 5,420
64| H o M + I 4,610
65| 4 B BT & 55 4,490
66| & A iy i bl 4,350
67| & Bl i = 3] 4,340
68| = S iy + I 4,190
69| #0 E3 iy + I 2,310
70| A H iy i bl 2,190
71| & | iy Jilz] b 2,080
72 & 7= & WY il 1,850
73| BB BT+ B 1,830
T4 fis iy Jilz] b 1,800
751 B F iy i bl 1,640
75| ZE il iy i bl 1,430
A S A iy % & 1,390
7 A 5i il A 5i 1,370
79 F JI il iy psil 1,150
80 = & o M7 % &= 971
81| # #B BT % & 780
sl W M E % = 704
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Sugar beets Yield per 10 a
4 I i & b e i il o S5 v F 7
e | BERRE | W g Mgtz | s 5 | =
kg kg
S & 7,030 t & & 7,030
1l & & & 7,030 1| & —v 2 7,390
2| = E3ll 7,280
3] A Si 6,940
e HR D102 7= V) INE 4k JI 6,870
8,000 5| + B 6,850
' 2 6| 3l iz 6,840
7 th 6,650
8| #% &= 6,380
9] & [ 6,300
4,000 10| 18 = 6,140
11| RE = 6,050
12| H = 5,490
13| B = 4,990
0 . J
i %z ey + + 4l ', % B R =] B (iR)
‘i/ " N B OB L EF B OZE K OB B
i W kT F v (E~HINL)
AR E: B | W 5 IREEEERE o | 2
k ki
R B 8020 sil B R ® o f8 0 7020
21 /N E K OET TR =7 8,010 32 = Al i) TR =7 7,000
3] X i i) TR =7 7,890 33| B Si N} % &= 6,970
41 F JI il i %0 7,880 33 Il F A HET TR =7 6,970
5| & A i) i %0 7,860 33 & =] i + i3 6,970
6| @ £ bl TR =7 7,770 36| B8 F &, & % &= 6,950
7 B F i) i %0 7,600 37 2 i % &= 6,910
8| # #R iy % &= 7,540 38| FE R & HE + JI 6,870
8| = 23 iy + I 7,540 9 B B B 6 + JI 6,860
10| &# B R @ i %0 7,500 40 SR ER M BT iz} = 6,840
10 # bl I + B 7,500 40 & F B BT il iz 6,840
12| ®& 1% i) i %0 7,440 421 b jas| i + i3 6,760
13| & = bl + I 7,420 431 = e Ol = E3ll 6,730
14| & N bl + B 7,410 44| 17 = Ol iz} = 6,720
15 7 E R B A7 + I 7,400 45( &l H iy + JI 6,650
16| # W B & = 3] 7,390 46| J\ = i E = 6,630
171 18 I bl t I 7,340 471 K 18t i + i3 6,580
17 T billl bl A 53 7,340 48| il Ol F R =7 6,560
19| billl iy A 53 7,330 49 &£ 2 B B TR =7 6,530
20 ZF = iy + B 7,300 50 = = il a Si 6,500
21| & # X H t I 7,290 51 Z= ES iy + JI 6,490
22| & B iy = 3] 7,250 52 = 1R i % &= 6,470
22| # =24 i) TR =7 7,250 53| & + i) TR =7 6,440
24 dt 8 bl FHE =V 7 7,230 54| B Al i) TR =7 6,410
25| /& - i) iy %0 7,220 55| & P il i} th 6,350
26| = 1% i) TR =7 7,190 56| % = il + s 6,340
27 & 8 i) TR =7 7,180 57| @ Mg il + s 6,320
28| & billl iy + B 7,090 58| B B il + s 6,310
0 5 B B+ s 7,070 Ol & B 0w & 5 6,300
30| F I3 bl A 53 7,030 59| + Mg il + s 6,300
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i 0N 5 v

B | BN & | 5 | =
k

61| ZE il iy iy psil 6,250g
62| A H iy iy psil 6,230
63| I E BT + B 6,160
64 € 7= & WY il 6,150
64 + A iy % & 6,150
66| & E E H 1R = 6,140
67| & = iy FHE =V 7 6,090
67| & ok BT+ B 6,090
69| H = iy H =) 6,030
70| E X B A % & 5,980
7| £+ g BT+ B 5,960
72| £ bl il + JI 5,950
73| ES iy + I 5,920
T4 fis iy Jilz] b 5,900
75| 1B %1 = H % & 5,860
75| & B BT+ B 5,860
A S T o I 1] Jilz] b 5,840
78| & | iy Jilz] b 5,810
79| & 23 iy FHE =V 7 5,780
80| &= Al BT = 3] 5,740
81| & F iy Jilz] b 5,620
82| & = iy + B 5,590
83| M= R ¥ My + I 5,510
84 = & o M7 % & 5,330
85| & = BT Jilz] b 5,240
86| #x 7 E = 4,850
87| &% A+ B 4,360

=
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Buckwheat Planted area

£ H kv J 5 & ¥ 1 7 M 5 2 T
e | BERRs | v = 7 | @& # Mgtz | s B> = 7| m@ b
% ha % ha
S E| 100.0 65,400 it #® & 100.0 25,200
1l &t & ®E 38.5 25,200 1| N 44.4 11,200
2| W iz 8.0 5,260 2| = il 28.4 7,150
3| & 7 6.7 4,410 3| # & 6.7 1,700
40 M 5.8 3,770 4 + % 4.2 1,060
5| & g 5.7 3,740 5 1R = 4.0 1,010
6| 1& ty 3.0 767
2EICHIT2ILEBEDS = T I A 3.0 745
8| & 7 1.8 462
9| & 15 1.2 306
10{ #I 7% 1.1 282
1| & g 1.1 265
12| BB i 0.8 196
13 = = 0.1 36
38.5% 14| H B 0.1 28

Bloy:: S
i B KM 5 v F  F (E~5900)

AR g | @ 1 IREEEERE B | @ i
ha ha
1| 88 mm N B L Jil 3,520 3 Mmoo owm B % pos 241
2l @ o owm = il 2,560 Rl & A ®BH Oz il 224
3l i wm k Jil 1,280 33 = m\ w00z il 214
4 FEETHEROE Jil 924 CV N/ T B o )| 207
] - S R o Jil 836 3B F N Bk )| 194
6| & W B Jil 737 6| H B R @ % il 189
W m o # = A0 673 3| mERBEH b )| 170
8 & =®m H = il 637 8| K B OB A Hk—vy 169
9l £ B @ Jil 590 9z #H® EMM@ iy 168
of 1 =& #E F Jil 561 40| B R BT 4@ iy 163
1| # f1 B P 513 4l 8 R B m )| 155
1| H+=2 e = il 513 42| = o o BTt )| 138
1B w N owm = il 434 43 = Il BTk )| 131
4 4 2 B AR = 413 44 K £ om = il 130
5 &l BTk Jil 411 45| S A B = il 129
6| W B HB = il 406 45| 3 ® BT B A 129
7 2 % R B % P 388 471 & 3 BT+ B 127
18 = & Bt Jil 354 48| & Kk BT+ B 113
9 H B B+ i 352 49| & BT % pos 108
200 = ®m ATk Jil 347 50 & ¥ ®wm  A 13 107
21| B @ B AR = 334 500 &1 N BT E g 107
21 5 B 9w 0= il 311 520 B} g BT R A 102
23| % R B B 0= il 300 58] & & E 18 iy 99
24| B & & BT % & 267 54 B m owm B 7 95
25| % 7 E BT 4 % 262 55 4 S m E g 91
26| & 7= & HT @ il 255 56| k& B )| 78
211 % N owm = il 249 57| A 1l BT+ B 75
28| £ I BTk )il 246 58| & A~ b B JE i 73
28| 1= = HT MR = 246 5 & B ®m FHR-—v7s 71
30| % B B F )il 244 59 B AT L )| 71
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Bk | OET M & | 5 | @ &
ha

61| = 29 i) TR =7 70
62| = A E % & 69
63| T B & i 68
64|l B E w & 135 63
64| B B8 i) + B 63
66| £ gy i 52
67| = 2 iy + B 49
68| + B ® & 135 45
69| #F % 2 N & 135 43
69| = il i) = 3] 43
69| & 8 iy F K — 7 43
72| fF = bl Jilz] R 40
2 % B 4 7z %0 40
74 = H# T H s %0 34
75| & 1% i) s %0 33
76| = 1% i) F R - 7 31
77 T = i) il 30
78| ZE 1L i) s %0 28
9 = o@m & % & 25
79 = = iy Jilz] R 25
81| IF = i) + B 24
82| 4 £ bl F R - 7 20
83 A Vi i) s %0 19
841 = Evd bl i %0 18
85| L il bl A 53 13
86| = & o Hr #® & 12
86| ¥ W B N &= i 12
88| + = & F A 135 7
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Buckwheat Production

e ®W bk v 7 5 & 2 I 7 W 5 v F T
e | wEmRE | v = 7[R E B Mgtz | s gy = 7| ® =B
% t % t
2 E 100.0 42,600 it & & 100.0 19,700
1 & & & 46.2 19,700 1| k£ I 48.8 9,620
2l 2 7.9 3,350 2| Z= 3l 24.2 4,770
3| W Z 6.1 2,580 3] % & 8.1 1,590
4| #5 PN 5.5 2,340 4l + i 3.8 739
5| # M 4.9 2,070 5] #4Hk— v 2 3.7 738
6| 1R = 2.8 550
£EICEITRILBEBEDY T 7| 1@ i 2.5 488
8| & ] 1.9 373
9 A 55 1.1 226
10 # s 1.1 211
11 pB iR 0.8 165
12| & B 0.7 142
13| = “ 0.1 29
14| B = 0.1 18

> T (Ur~60fr)

R IREEEERE g | X & =

t
| % A A £ N 2,280 3| B MmO £ il 175
20 & N T = AN 1,810 32 % X B T z= Pl 167
3| BB T A £ N 1,300 B B R T W £ il 166
408 @ £ N 1,020 4 & B R @ = Pl 164
5 & F W £ N 820 34 5w M R = 164
6 ® W £ N 590 6 & F M R = 153
77t B ™ £ N 506 37| mER B £ il 142
8| #* M AT % & 503 8 2 FH M & b 133
9] M1 = £ N 481 /9 & B + i 125
0 = Ji B £ N 451 4ol B8 ® M 4 3 120
1 & = @ = AN 437 41 & B AT z= Pl 112
212 B f = Bl 396 42| W M K H £ il 101
13| & & %= % & 387 43 = ) OE £ il 97
140 = & Hy £ N 370 44 ¥ 1] H7 4 3 96
15| % &R fr £ N 359 45 &= ¥ W = Pl 94
16 2 0 oM B % & 341 6| 8 B F & # 89
w = N W = AN 311 47 B B 4 3 87
17| %+ 2 N1 ET = AN 311 48 B SR &R AT & b 82
9 W = = AN 271 o B & z= Pl 80
200 & 2 H R = 231 50 B MR + i 79
21 B B W = AN 223 51| & & + % 78
22 £ )11 HT £ N 222 52| & » b H 8 ¥ 69
230 & B F R =7 221 53| &1 AW HI pid 5 64
23 B + i 221 54 = K T *® & 61
25 & 1 HT £ N 207 5[ £ MW W = 0 58
25 B F B Eill e 207 56| dt R @ I A4 56
2711 ® N @ = AN 206 57( k& & HT £ N 55
28 & MM £ N 199 58| & & W] 8 b 53
29| B & #*® & 186 59 = 1R ] I A4 50
30 & /o A HT & i 181 60 & Bl T £ N 49
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m W KN 5 v

Bk | OET M & | e
t

61| B B E  + s 48
62| 1 ¥ B & i 45
63| # E 2 N & = 43
64| = ®& B A K-V 7 42
65| EZE 1L i) s %0 41
66| £ I 0w E g 40
66| 7% BT 1% & 40
68| & 8 iy FHE =V 7 39
68| ZF = i) + B 39
00 5 B OB+ s 37
nF B ® =& = 36
2 % B 4 s %0 30
73 £ 7/ i) il 29
21 ) B A & 26
Bl MoE W A K-V 24
75| = bl Jilz] R 24
NN E E ® & = 23
8| E = iy Jilz] R 22
I &= # T & 7z %0 21
80| = il i) = 3] 13
81| I il bl A 53 12
8l = & o Hy % & 12
83 A Vi i) s %0 11
841 = Evd bl i %0 10
84| L = i) il 10
86| M 1% i) s %0 7
87| &t K & H & 5 6
88| W B N B i 4

=
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Buckwheat Yield per 10 a
E(E e SR B R | A 3 ] o 5 v F T
e | BERRE | W g Mgtz | s 5 | =
ke ke
£ = 65 it # E 78
1| # 5 93 1] &% =V 7 99
2l B ® B 86 2| # 7 93
3| & F 83 3] £ il 86
4 #E % 82 4 e IR 84
6| & @ & 78 5| & i 81
5 R B 81
7| b 75
whe BT L diEE 8 A 5 74
(BEAFR) 9| + B 70
| 10| = A0 67
BE % 11| 18 i 64
jr— 11| H = 64
i 8 13| 1R = 55
e @ 14 B 5 54
A 2
A
imE | I 7
0 5|0 " (ke)
moWr M S F 2 (R~60hD
AR E: B | W 5 IREEEERE o | 2
k k
|5 =2 m B 163" 05 B BB i 87"
2l = 1] F R =7 161 (£ B @ £ il 86
3 ® 40H = AN 148 32( M & M £ il 86
4 £ M = AT #*® & 145 34| R H £ il 85
5| E B T A £ N 141 /| MERBTEH £ il 84
6| & £ F R =7 131 6 B I @ z= Pl 83
1|8 E B AF-vo 120 | &8 ® 0w & 5 83
8 & JII AT £ N 110 38| ¥ K H £ il 82
9 B R M £ N 107 9 F om0 A 5] 81
9] = B £ N 107 40 & JII T £ il 80
9 T N H £ N 107 40( & W AT £ il 80
12| B )] 8 + i 105 420 & B W I A4 79
13 = & o H % & 104 42z H i) & b 79
13 = & f % & 104 420 % F B A7 #l b 79
15| # % H B 7 101 sl woow B % 7 77
15 = &R & £ N 101 46| B2 & AT + i 76
7 & 5 M £ N 98 47\ %k B 4 H z= Pl 75
% M & % & 98 a7 F FE & + i 75
7 & & + i 98 49 &= )Nl i) £ il 74
2001 1|®H S A 94 50| R X £ il 73
200 & M b HT L] I 94 51l & B @ = Pl 72
21 ® % S A 93 51 & @ z= Pl 72
23 B B W S B 92 51 & JII ™ z= Pl 72
24 & B B F R =7 91 54 ® Il @ z= Pl 71
25| £ I HT £ N 90 54| & 7o 7 HI 8 b 71
260 5T B @ a Eb) 89 54 kv £ N 71
26| &t K B ™ a Eb) 89 57( & & H z= 0 69
28 B W A HI #*® & 88 57( & Bl T £ N 69
28 = A HI #*® & 88 57/ & Ak H + i 69
[ & R R M = AN 87 60 W w T z= 0 67
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i 0N 5 v

B | BN & | 5 | =
k

61l ¥ ® & % 66
62| M M AN H + I 65
63| % (= iy + B 63
64| &= # I H i bl 62
64| B =] iy i bl 62
64| 1Z = iy 1R = 62
67| f# = il Jilz] b 61
67| -+ 2 Il AT iy psil 61
69| 0 A iy pES = 60
69| = 23 iy FHE =V 7 60
71 A H iy i bl 59
721 B iz iy i bl 57
73 £ iy il 56
73] &% R B OH i bl 56
73| B E R O 1R = 56
76| 5 & iy il 54
7 = vl bl iy bl 53
78| B R # AT it 50
8| & A iy iy psil 50
so| B & B A = 49
81| it 2} M B = 44
28 E ® & 55 37
82| & BT % = 37
84| T = iy il 33
85| @ WL B N @ G 32
86| &= bl iy = 3] 31
g7l £ m w = A0 27
88| m& 1% iy i bl 20
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Potatoes Planted area
2 BH kv J 5 & 2 1 7
B | BmEmE % | > = 7 | & i
% ha
2 5| 100.0 76,500
1l & ® & 66.4 50,800
2| B JIo) = 5.9 4,510
3] & 53 4.7 3,580
41 * b 2.0 1,560
5| F ¥ 1.6 1,200
£EICEITRILBEBEDY T
66.4%
tEE
b7 SR
B | w O ON % | #h i | ' 1%
ha
1| & /N bl + B 3,570
2| #F = iy + B 3,240
31 #& 8 iy TR =7 2,700
41 18 E bl TR =7 2,580
5| & billl iy + B 2,460
6 =+ 1% iy + B 2,180
71Es ® B O+ B 2,170
8l /I F ok BT TR =7 2,160
9| & B i) TR =7 2,120
0] 8 % & + B 2,030
11| X s i) TR =7 1,930
12| 4t B bl TR =7 1,880
13| = 1% iy TR =7 1,400
Ul 8 m = &1 % & 1,270
15| B B8 iy + i) 1,050
6] & A " H + B 985
17 & =] iy + B 942
18 = @ & & 893
9] & K BT+ B 873
20 £ m &t )| 832
21 & 1% BT + B 797
22 £ 4+ iR Hy + B 758
23 I F OB OET Ak — Y2 738
24 = billl iy TR =7 601
25 & billl iy + B 579
26| B &5 B & 1% & 575
271 B ® 0N % & 476
28| 1 KE E H R = 435
29| E R B Hy i 1L 428
30/ FE B B M + I 405

-51-

YRR 304 P

W 5 v F T
I g | = 7 |m B
% ha
t = & 100.0 50,800
1 + i3 445 22,600
2l R —v 7 32.7 16,600
3| % &= 8.4 4,260
41 E JI 5.2 2,620
5| 1@ th 2.2 1,130
6| E = 1.5 745
7 = E3ll 1.3 677
8 A Si 1.3 666
9| BB = 1.1 556
10| 1R = 0.9 465
11 4 iz 0.8 406
12| H = 0.1 36
13| & ] 0.0 24
14| R 7w 0.0 6
2. (~60fD)
IREEEERE B | @ #
ha
31| B F B HT il iz 404
R w B FE 2 400
32 % e i @ th 400
34| ; H i + i3 344
35| & & A HET % & 309
36 K 15 iy + i3 307
37 B I= i) TR =7 300
38| %% 0 iy % & 249
38| mE R A + JI 249
400 = + o HT #® & 248
41| SR & A ET iz} = 226
R ' E @ FA Ui 204
431 + il Ol + JI 198
44 ZE th i) paz) E3ll 197
45| #l H iy + JI 196
46| & iy E = 185
47! A 1= i) paz) g3l 182
48| 8 R B ™M + JI 178
491 £ = Ol + JI 173
50 #r = i + i3 162
51 /8 I Ol + JI 161
52| & 7= 7 MY i} th 160
53| A Si il a Si 135
54 F R il a Si 132
55| R E R B T i JI 124
56| & = iy + s 119
57/ © H» 4 Hr iz} = 118
58] 2 M KN HT % & 99
59 & A i) paz) E3ll 91
60| = = il iz} = 74
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Potatoes Production

& Wk v J 5 & 3 x 7 W o 5 > F v T
e | wEmRE | v = 7[R E B Mgtz | s gy = 7| ® =B
% t % t
& & 100.0 2,260,000 it E# =& 100.0 1,742,000
1l & & & 77.1 1,742,000 1| + B 44.5 775,900
2l B B B 4.3 96,500 2l FH— v s 36.8 641,700
3] & I 4.1 92,100 3| # & 6.6 114,800
4| #* 51 2.0 46,300 4| E Nl 4.3 74,700
5| F I 1.4 32,200 5| 1& i 1.6 28,500
6| A 55 1.3 21,900
2EICHITRIEBEDS T 7| %= 0 1.2 21,100
8| & =) 1.1 19,800
9| fB iR 0.9 14,900
10| 48 = 0.8 14,300
11] 3 % 0.8 13,800
12| H = 0.0 751
’ 13| B2 [T 0.0 377
14| = S 0.0 69

77.1%
JbimE
i BT F s 2 (U~ 606D

AR E: e IREEEERE g | X & =
t t
1| % &® @ + B 122,800 31| B A OB O AHK—v Y 11,200
2l 88 B B A Kk —v 7 118,000 32| B R B E & iy 11,100
3l ¥ = A+ s 105,000 2w @\ E + i 11,100
4 MmO E W A ER—V Y 96,500 | WO m = 10,500
5l 8 B OB Ak — VY 90,300 35| K @& # O+ i 10,100
6| /N B K BT AR — VY 90,200 6 & & & iy 10,000
A== R s 81,700 3 &5 OB BT % & 8,460
8| & 3 H + s 77,600 | mMERBEH L Nl 7,820
of = B A + s 77,400 39| & M B % & 7,300
100 K = B FHX-—vV7 75,300 40| E E W A 55 6,920
11 & | &+ s 74,200 411 E Wy BT = vl 6,880
120 & B & FHXK-—vVy 65,100 @2 = & a0 B’ % & 6,180
13 £ W B A ER-—-vY 43,300 43| B = m = vl 5,840
4+ A w o + s 39,100 44 B BT+ i 5,440
5| B B H® + s 36,200 45| A & M BT JB IR 5,380
16| & ©® ® + s 34,900 46| 7% BT E = 5,370
17| 8 /M = B #% & 33,200 47l 8 B B @ Lk Nl 5,280
18 3 FHFE AKR—VY 27,900 48 # M BT Lk Nl 4,690
19 = B H i I 26,300 9 F ®m ™ A 5 4,670
200 £ + 18 B+ s 26,200 50 £ ® 9w L Nl 4,440
21| & Xk E + B 25,500 51| & 7= & HT i@ iy 4,400
22| @ o BT+ s 24,600 52 £ 8 @k Nl 4,340
23l = @ E % & 23,600 53l B % B+ s 4,250
24| 2 B BT Ak — V2 20,100 54/ B ) @k Nl 4,210
25 & B H + iy 18,800 55 & ¥ 0w A F 4,130
26| B & B N #% & 17,300 56| mE R BE L Jl 3,440
21l & F B B 4 % 13,700 571 & #» H BT BB i 3,380
28| o= o BT AR = 13,400 58| & B HT % vl 2,720
29 B om0 0N #% & 12,700 59| B o BT % & 2,520
3| tERrHH L I 11,600 60 & = H®H B i 2,280

-53-



m W KN 5 v

Bk | OET M & | e
t

61| T billl il A 53 2,030
62| B HM E % o 1,850
63| # I bl i %0 1,720
64| = 29 i) TR =7 1,680
65| fF = bl Jilz] R 1,670
66| J\ = iy E = 1,620
67| % billl i y e 53 1,610
68| &t = B ™ A 53 1,600
69| T = i) il 1,580
70 &5 R R M i %0 1,450
71 = E i) + B 1,390
2 B billl bl i %0 1,260
73| B billl i) TR =7 1,220
74 dt N bl E = 1,200
75| & ] i) Jilz] R 940
76| &= =t i) R = 903
77| *= F i) Jilz] R 897
78 AL 1% il A 53 876
9 & B iy il 868
80| k£ I i) t I 863
81| = P i) + I 770
82 H e i) H = 669
83| & # N % & 663
84| + B i) E = 600
85| L / i) il 504
86| = I i) + I 354
87| # % E B iF 318
88| N B W % & 296
89 A i iy P %0 283
90| & = i) s %0 258
91| #O e iy + I 253
92| & BT 4% & 222
93| & H iy P %0 212
94| = billl i) = 3] 211
9| # #® B % o3 160
96| kK & W H E = 147
97| ] 0 AN HY + I 142
98| = Evd bl s %0 134
o9 & B B E & 114
100 = # X H t I 112
101| # @7 My E & 111
102| %0 A iy E = 105
103 M@ 1% i) s %0 96
104| = =] bl 2z %0 91
05| % @ B 1% & 89
106| 1= /N iy % & 69
107 % 7R bl i %0 62
108| #E A b R = 56
08| & ¥ B # & 56
1101 % W iy + JH 48
111 & 3 ol % s 46
112 # iz M Il 28 44
13| % 2 N & 5 33
14| ¥ @m B M = 28
115| b Fal iy + J 25
116 &= I bl iy psil 18
116| = R iy T th 18
116| #r o) iy H e 18
119 & /N W ™ Jilz] b 16
19 & 9w B #% o3 16

=
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v T (616~ 14647)

IEEEERE | % B
119 & i 7 + N 16
19| o< rl A s 16
123 & Al 7 H 5] 14
124 & 7 #® BT C 11
124 & po &+ + N 11
126 = £3] il B i 10
126 # N m %= # 10
128 R B i} & 5 9
129 /I F 7 7 3] 8
130| #% & 4 7 %= 0 7
130 ™M B 7 %= 0 7
130] 4t B 7 %= 0 7
130 = N 7 + N 7
134 & % 7 7 3] 6
134) W B KB # 6
136] F N 7 + N 5
137 &= # I Hr %= 0 4
137 #&% X B f7 %= 0 4
137 = il 7 + N 4
137| # W E B = 4
137 B B A+ B 4
142 38 oo % P 3
142 #% B AR % P 3
142| EEF R L )i 3
145 2 Y b BB = 2
146 #; & il %= # 0
146 £ # JII H %= 0 0
146| 1% & i} R 2 0
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27T Bhnl x  10a%7=0LE

YRR 304 P

Potatoes Yield per 10 a
£ |k v 7 5 o 5 v F 7
e | BERRE | W g Mgtz | s 5 | =
kg kg
& E| 2,950 it B & 3,430
1l & & & 3,430 | &K=y 7 3,880
2| % 1 2,970 2| + B 3,430
3| F - 2,680 3| % % 3,390
A I 2,570 4l &\ U5, 3,280
5| & ) 2,560 5| = 50 3,110
6| 18 = 3,080
71+ ) 2,850
(BB ) 2E7 %7 by 75 8| #% o 2,700
9| B iR 2,680
4 10| & = 2,660
wnt | ;. T 2,540
i 12| B = 2,110
R 2970 13| & BA 1,590
T 2680 14 ® o 1,210
KI5 2570
e 2560
L
0 4,000 (ke)
i 0 & 2 F 2 T (hE~6067)
AR E: B | W 5 IREEEERE o | 2
k ki
1 & 2 B Hh—-v7 4,370g 3l m = Em o= i 3,210g
2l 5 B OB A k-4 4,250 ch A = I S B 3,210
3 N E ok ET = VA4 4,170 33| £ @ E + ) 3,160
4 AL W+ B 3,970 Ul mERHEH L ) 3,150
5l K = B A k- s 3,900 (B o3 ®m O+ B 3,150
6|l ® B N+ B 3,810 B B B 0w o= 50 3,140
7190 F o oBT Aok — s 3,780 37| = | B A k- 3,090
8l @ & w A K-V s 3,750 37w wm m + B 3,090
8| £+ A+ B 3,750 9| koo oE R = 3,080
wEg F B HAKr-—v2y 3,730 40 B B H® B iR 3,060
1l & a ®m  + B 3,700 “nlw B m A U5, 3,050
12l B 5 B+ B 3,570 R’ N W = i 3,040
B F ®% @ A U5 3,530 43 AL A U5, 3,020
1w ®2 L o®m o= 5 3,500 4 B 5 B N % & 3,010
Bl B @ HAER-—vy 3,460 44 2 2 B R = 3,010
16| £ + g E + B 3,450 46| & B BT = 50 2,990
6 B & B+ B 3,450 47 % B B A U5, 2,980
18l & m W + B 3,440 8 5 BB H L ) 2,960
9 & = B+ B 3,410 49| H| o % BT L ) 2,950
00 % ¥ E B 8l % 3,400 50 # M E % & 2,930
2l 8 E W A U5 3,390 510 8 o« B+ B 2,920
2l B w4 B 3,360 52l 2 & 0w B iR 2,910
K] (A N R =1 U5, 3,350 53| # i = 2,900
24 2 B B A K-V 2 3,340 54l &7 £ m B iR 2,880
5 B B OB+ B 3,320 5| tER®E E ) 2,860
26 K~ # B+ B 3,280 5| & » b BB iR 2,860
270 & # M ®H % &= 3,270 571 £ 1 Bk ) 2,820
28 5T 8 ®m A U5, 3,250 58| 5 B BT Ak — Y 4 2,790
28| &~ B m 4 B 3,250 ol B & & = i 2,780
0 ¥ = B+ B 3,240 60| FERHEH ) 2,770

-55 -



O I A

Bk | OET M & | 5 | =
k

61| & 7= 7 HT il 2,750g

61| & o) o + I 2,750

63| = X B H % &= 2,740

64| J\ = i) E = 2,700

65| & ] i) Jilz] R 2,690

66| BE 53 I % = 2,670

66| & A i) % = 2,670

66| & il iy + I 2,670

66| = 29 i) TR =7 2,670

70 = 1% i) % &= 2,640

71 & £E il E = 2,630

72| B M & H % = 2,620

73| 18 JI bl + I 2,610

74 B SR OB OHT il 2,600

74| 8 i i) % &= 2,600

76| = P i) + I 2,570

77| % = bl + I 2,560

8| #woE RN A = 2,540

78] B2 & A H % = 2,540

80| % % i) il 2,510

81| T I i) + I 2,500

82| = + o Wy #®% &= 2,490

83| (=3 i) Jilz] R 2,470

84| = I i) t I 2,460

85 = Evd bl i %0 2,440

86| &5 R R @ i %0 2,430

87| B H iy P %0 2,410

88| i1t N3 il E = 2,400

88| t Bk iing E = 2,400

88| #l S i) + I 2,400

91| % 5K b 2z %0 2,390

92| A & W B B i 2,380

93| % b iy % & 2,340

94| % H F H s %0 2,330

94| ™ = iy P %0 2,330

94| 4t = i) s %0 2,330

94| H = iy H = 2,330

98| 1= N iy % &= 2,300

99| @ =| iy P %0 2,260

100| & I bl i %0 2,250
100 #% £ iy R Ea 2,250
102| #l P& b B[l P& 2,200
102 &R 7 58 Hy E = 2,200
102| ;T = iy i th 2,200
105 =+ il bl + I 2,190
106| F@ 1% iy P %0 2,180
107 < B iy il 2,170
108| & F iy % & 2,150
109( #0 = i) t I 2,130
110] /1 a8 b % & 2,110
mil m ow B E g 2,100
111 & & KN i E & 2,100
111 £ iy i th 2,100
114| tb Fil il t I 2,080
115( 8 H0 A HY + J 2,030
16| & M % m fB i 2,000
116| # J bl P %0 2,000
116| # #R iy % &= 2,000
116 & # T H 7z %0 2,000
116 #% R 5] H 7z %0 2,000

=
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> U (61hE~14901)
IEEEERE i | B
ke
116 = 5y £ il 2,000
116 ] ZE  fT R = 2,000
116 ¥ E & B = 2,000
116 kB 31 A7 + s 2,000
125 #& i) % & 1,950
126 &8 & Hf pid 5 1,900
127 % @1 A7 pid 5 1,850
127 &% & Hr £ il 1,850
129 ;L & A ™ z= Pl 1,840
129 £ ® JII H7 z= Pl 1,840
13 = ™M z= Pl 1,820
132| B2 #8 7 & 5 1,800
132| &8 R H7 & b 1,800
134 & Il i} £ il 1,750
13| = F@ ™ e i 1,670
136 # B A B = 1,640
1371 /N HT 4 3 1,600
138 & % A % & 1,530
139] & B F 19 A £ il 1,500
139 # = Hf 2 ] 1,500
139 40 1 B A 4 3 1,500
1421 &= 3 A7 4 3 1,390
143 # AN R = 1,140
144 R i % s 1,000
1| B KR % & 1,000
144 #&% U H7 B = 1,000
144 2 Y © H7 H = 1,000
148| # O 72 A7 B = 800
149| @ A AT H = 778
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Rz

Rape seeds

28

VAT ihis

Planted area

IR

Production

el Eky J5 &2 7

1024 7= 0 I &

Yield per 10 a

B mmq Sy | | & JEfL aagmﬂ >x7 | w % 8 B |mEmez] o2
% ha % t kg
¢ B 100.0 1,900 ¢ = 100.0 4,130 2 H 217
1| deimE 54.2 1,030 1| deiEE 79.9 3,300 1| deimE 320
2l & & 10.2 193 2l & & 9.2 380 20 & & 197
3| & & 4.9 94 3] & B 1.2 49 3 #mHEI 187
4 # H 4.0 76 41 3 B 1.1 44 4 £ % 157
5 = #E 2.6 50 4] = [ 1.1 44 5| & [ 133
£EICEITRILBEBEDY T 2EICEIIZIBEEDS T 2ES V¥V Iy 75
(ERETR)
e | 20
B
HR) 187
54.2% 79.9% e
[V N 157
EE tiEE
& 1
0 (ke)
Wik S > F T
BR[| i | ST | o A JER | s s | ST | N % 2 E G| # i N 8
% ha % t kg
itiEE 100.0 1,030 itiEE 100.0 3,300 itiEE 320
1| Z 40 60.4 622 1| Z= A 67.6 2,230 1l & ¥F 378
2| £ ) 12.8 132 2| BB = 10.8 355 1| BB & 378
3| + i 11.7 121 3| k£ Ji 9.2 304 3| = pall 359
4] B & 9.1 94 4] + 7.7 254 41 E ) 230
5| & ¥F 4.0 41 5| & ¥¥ 4.7 155 5[ + s 210
L2 F T
R IR IR lefir | wEE | o8 | I E
ha t kg
1| =M 7z A 249 1| Z=rEH RS 923 1| FatRET RS 427
21 ENE 7z A 162 2] ZRR PRSI 670 2] ZRR RS 416
3] ERIR 7z A 161 3| EIH RS 435 3| HRET H O 402
4| sEE O+ B 70 4| mimE = om 179 4| mEE B R 379
5 mEItRET 7z A 42 5| =EHMT + B 143 5 =rmEH RS 371
6 LAIET VRS 25 6| LRIET PN S 101 6| S=BEfT + 350
T #2E L+ )l 14 7| Fn3EET =l 33 7l #EIN® RS 269
7| FEHET il 14 8| ZEHEAT £ 21 8| AT £ 236
9| ZEBEET + ) 6 Ol xB L I 15 9| &HEHT + B 204
10|+ 87 £ ) 107
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01 ERSEpEH &t

Agricultural output Total
& W k v 7 5 & ¥ x 7 oz v F T
et | wEmRE | v = 7 | E W @& I g | > = 7| E # #
% &M % &M
£ = 100.0 91,283 it # E 100.0 12,593
1 & & & 13.8 12,593 1l + i 24.4 3,073
2l B R B 5.3 4,863 2| Ak =V 7 15,5 1,954
3| % R 4.9 4,508 3| £ il 10.2 1,280
4 F 3 4.7 4,259 4 R = 9.2 1,160
5| = iy 3.8 3,429 5| Z= Pl 8.0 1,011
6| % 6.7 842
2EICHTZLiEEDS =T ! i 5.7 718
8 & 5 4.2 529
9| = 2 3.8 474
10| H = 3.6 452
1] & & 3.1 392
12| E 5 3.0 374
13.8% 13| & & 1.4 180
tiEE 4] 18 W 1.2 151
i BB S ¥ F 2 J UR~60hL)
AR E: | E H @ IREEEERE | & H &
1,000 1,0005H
1l 5 ' H R = 6,602 3 ® AW @ R “ 1,215
20 & R T F R =7 3,293 R(H# E W 8 i 1,193
3) & B + i 3,144 33 N FE KT I A4 1,189
4 & K + i 2,927 4| # B I A4 1,138
5| = 1R + i 2,837 3Bl & B 0M + i 1,117
6 F 1R F B R = 2,826 6| & F 0™ £ il 1,094
I S )} Eill B 2,504 37 # B’ 3l 5 1,051
8 ¥ = AT + i 2,417 3/l B F M + i 1,036
of & E M + i 2,380 391 H = A7 B = 1,027
100 & K& H + i 2,323 40| 5 + i 1,025
1) = ¥ f L] I 2,101 41 & A | z= Pl 987
12| M = F R =7 2,074 206 = H 8 ¥ 986
13 &# R R % AN 1,808 430 &~ §  Hr + i 977
14 E & f + i 1,807 M2 = R B 967
5 8 R & £ N 1,783 45| & i) & 5 960
16| £ &+ 1] 7 + i 1,685 46| H IR H + i 938
& B F R =7 1,680 47 & W = Pl 929
8+ =m ™ =) Eb) 1,638 48| L E R ¥ H £ il 927
9 X & fr + i 1,577 49 B F B AT #l b 920
20| & b HT Eill B 1,549 50 #% Bl @ F R =V 7 897
21l K = H F R =7 1,413 51l B B 8 ¥ 890
22 & & R = 1,410 520 B R #l 5 867
23| A F A OHEY F R =7 1,266 53 B B H I A4 838
24 f8 I T £ N 1,249 54 % PEA ) B = 836
25 £ M|® H F R =7 1,245 55 & & M #l 5 832
26| & A omoH + B 1,240 6| N BB & 831
27| = B H7 £ N 1,239 57 & » b H 8 i 827
28| 2 tB H + i 1,232 58 [ E T + i 808
29| # O 72 H HT H = 1,230 59| B R ¥ £ N 783
30 £ B 0@ £ N 1,229 60( # B I A4 757

X mHNBREERBRIHEIHETSH D, BN, [FIREEODIC] 23RINALL,
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m W KN 5 v
Bk | OET M & | | E H @
1,000 M
61| £ & M TR =7 743
62| B i) R Ea 736
63 5T % 0w A 15 732
64 1R = bl R = 122
65| = 29 i) TR =7 718
66 b H i) + B 709
67| &t = B ™ A ¥ 702
68 B i) TR =7 688
69| EZE i) s %0 685
70 & Ay iy H e 662
711 t© B i) E = 653
721 F Y iy H e 634
73] X b=y i) = 3] 630
74 dt N bl E = 624
74| H bl i) #® &= 624
76| 1R jii i) R w 603
77| X s iy + I 597
78| I = i) TR =7 570
9 % % i) il 551
80| BE billl i) + B 549
81| A 053 i) Il % 546
82| = 2] il i %0 540
83 B o N = A 523
84| B Il i) TR =7 513
85| M - g s %0 506
86| X bl BT y e ¥ 504
871l m E W A 55 482
88| & #H B HT R w 476
89| ® 7= & HT i th 469
90| # + 2 )il B s %0 461
91| B ¥ ol % & 447
92| = I i) + I 443
o3 o 2 M A = 440
94| w 1% i) s %0 434
95 % b iy % & 430
96| = E il t I 425
971 A i b a ¥ 424
98| B H B A 1% o 408
99| 1= /N iy % & 403
99| #0 = i) t I 403
101| & I bl i %0 399
102 #L 1% b a ¥ 367
103| /& il iy + I 365
104| @& =| iy P %0 357
105 & H i) s %0 347
106| B %1 % HT % & 345
107 &= # X H t I 335
108| & bl iy Jil=! #x 326
109| & t i) TR =7 319
10| m 2 R & &7 = JH 309
111 A i iy P %0 308
112| & S i) t I 307
113 & B iy = (] 304
14| B B B 1% o 301
114 A & # 0 Jil=l #x 301
116| % & 4 H 7z %0 298
117 & R £ Hy T th 295
118] T I i) t I 287
119| = billl i) = 3] 282
120 #% R B Hy 7z %0 279

=
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> 7 (61 ~1734H7)
IEEEERE B | B O# &
1,000 H
121 # I il % g3l 271
122 & il il % g3l 260
122 ™ B iy = g3l 260
124 & /N % iz} = 257
125] kb ¥ i i I 250
126| 4t £ iy = g3l 249
127 m | W g 248
128| % o il % g3l 244
129 = LEnt i % & 237
130 r @8 R BT 5N = 218
131 = v il % g3l 217
132 &= # I HI = g3l 212
133 & Al 7 i I 205
134 = & o H7 % & 204
135 Lt I i i I 203
135 7 IS 7 -V 7 203
137 3P 73 7 2 i3] 189
138 I i i I 184
139 & & #5 H B 5 169
140| /I F i 2 i3] 154
140( g B i Eill B 154
142 = X% 7] H % & 152
143 (=3 i iz} = 146
144 2 ® A B % & 145
145 40 b B & 2 i3] 106
146| & il il iz} = 101
147 ®% 0 KN E + JI 99
148| A0 A i B 5 98
49| K & om OB OE g 79
150 =8 i3] M 2 i3] 73
151 & H# I & % &= 71
152| T = i i i 67
153| & ES ity 2 [ 66
153 & @ E A = 66
155 = Y % W7 H = 65
156| 7= F M % g3l 63
157 /N 8 H #® & 54
157 £ / i i i 54
159 = ] il iz} I 48
160 B2 W BT E g 46
160 7% B % o 46
162 <2 H g i ] 44
162| % | 7 R = 44
164 SHTFTHN E 1l 42
165 & oA N} i I 41
166 B R g o ] 27
167| B i B 5 24
168 & A ity % &= 20
169 & ¥ B # o 18
70| & % A % % 8
171 5 B B % % 6
172l @ B B OE & 5
173 mE oM oHm o= 0 0
173| A oo o 0
173 B RN % % 0
1731 £ ® Il HET = g3l 0
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02 e

Crops

e B bk v 7 5 L+ I T 7
B gEmRs [ v = 7| ®E & =
% (=]
2 H 100.0 58,079
1 & =\ & 9.0 5,246
2| & b 5.4 3,148
3 F iy 5.1 2,969
4 F x 4.0 2,317
5| & g5 4.0 2,296

LERICEIT3EEDY T

9.0%

TmeE
(1 T | I S A
AR E: | E H @
1,000 M
1] dt 8 il FHE =V 7 2,692
2| & N bl + B 1,814
3l &= R R @ i %0 1,733
4 = billl iy + B 1,650
5| %F = iy + B 1,644
6| & 2 iy + B 1,485
N E R B @ + I 1,456
8| = 5% iy FHE =V 7 1,028
9] 18 I bl + I 1,003
10| X i iy FHE =V 7 957
11 #4 =24 iy FHE =V 7 947
12 89 F FE Ak —V s 906
13| /N & K BT FHE =V 7 873
14| A £ bl FHE =V 7 848
15 + 1% iy + B 804
16| & I bl i %0 803
17 & A iy i bl 799
18| % = bl + I 794
19 7 E R B AT t I 147
20 = B i) t I 736
21| + billl bl t I 718
22| & bl I + B 710
23| & =24 iy FHE =V 7 681
24 & H b WY Jilz] R 625
25| 2% bl iy % &= 624
26| ZE il iy iy psil 600
27| % s iy t I 579
28| dt N bl E = 575
29| = e bl iy %0 537
0| + Aom oA+ B 453

ES
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oz v F v T
I g | > = 7| E # #
% &M
it # 100.0 5,246
1l + s 21.8 1,146
2l A x =V 7 19.4 1,018
3| £ il 17.3 910
4| Z= il 17.3 907
5 #& & 6.1 319
6| & 5] 5.3 279
U E! ¥ 3.8 199
8| & 5 3.2 169
9 il 1.8 92
10| H = 14 75
11 & 3 14 72
12 4l 5 0.5 26
13| 1R = 0.4 23
14] = “ 0.1 7
7 (E~60hL)
IREEEERE | & H &
1,0005H
3 5T B 0w A Ui 450
32( 5 B A 5] 447
33| # A+ I E z= Pl 446
34| = ) OH £ il 441
| # & o2 A& # 439
6 7 E W 8 i 437
37\ B MR HT z= Pl 429
37f EF Kk H + i 429
39+ B H B = 410
4 £t R M E 5 403
41 B = H z= Pl 394
41 B B H I A4 394
43 = 8 A7 i A4 380
4 L ER FHE £ il 379
45 BB & HT + i 377
46| 1= K Hr % & 373
47( 0 B AT + i 371
8| & wm B % e 369
49 M1 E& H £ il 364
| & ®O® & # 357
50| A B B 357
52( /A B z= Pl 347
53l B OE 0w A Ui 346
54| & " M £ il 341
55 2 LB T + i 340
56 & Bl HT + i 334
57( & I @ = 0 330
58| + m 0™ a 5] 318
59| = o M & e 316
60| AL ] W™ A 55 304




m W KN 5 v

Bk | OET M & | | E H @
1,000 M

61| M ® & % & 291
61| % B 4 H 7z %0 291
63| % & i) il 286
64| A Vi i) s %0 284
64| B E R B A + I 284
66| B H W H & & 283
66| 1B % &= H #® = 283
68| & R B H 7z %0 279
69| #I S i) t I 267
70| #* i) E = 265
70| = = iy Jilz] R 265
72l W = i) s %0 259
73| £ + & Hy + B 256
74| B R @ E it 251
75| B ot X t I 250
76| dt = i) s %0 247
76| = F i) Jilz] R 247
78| % 7R bl i %0 243
79 & = i) 7z %0 240
80| & 7= & HT il 231
81| b Fil i) + I 229
82| A #& M M Jilz] R 224
83| M £E il E = 207
83| & billl bl i %0 207
85| = @@ Em % & 201
86| &= #H T Hr s %0 194
87| ® ® E # 191
87| & Il i) TR =7 191
8| B N 0w = 50 179
90| = Evd bl i %0 174
91| X i) iy + i3 154
92| = +& o HY #® & 150
92| & = iy + i3 150
94| =z P i) t I 140
95| = 2 BT 4R = 139
96| /I F i) = 3] 136
97| P 1% iy = (] 133
98| H e i) H e 130
9| db L B ™ a ¥ 125
00 # & B §8 i 122
101 #Fr O 72 » H H e 121
102 = % B H % & 114
103| = 29 i) TR =7 110
104 #r = iy + i3 108
105 & billl iy + I 105
1061 /\ £ iy E = 102
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| ChapterlV JLMEHOLES v %7

BIED o

BRI 10a%7- ) IRE I 8
g meme | seeEm | -7 [Ew] sese |oasronE| vo7 Bw| meams IR 7
ha % kg % t %
2 3] 4350 100.0 2 £ 416  100.0 2 3 18,100  100.0
1 W i 2,860 65.7 1 W i 495 119.0 1 1 i 14,200 78.5
2 1t & & 499 11.5 2 H 475 114.2 2 14 il 1,080 6.0
3 1 #d 301 6.9 3 1 #d 359 86.3 3 &t & & 923 5.1
4 H 87 2.0 4 &t & & 185 44.5 4 H 413 2.3
5=
02 HBIPE
Livestock
-
AHE emow2nnmm
HERK HEER (59) 1P N7 Y ABER
w| meme | mEFs | va7 Em| mess WEEH | vx7 |JE| HEEE |1rucvssws| o7
= % BE] % BE] %
2 3] 14,400  100.0 2 3] 1,352,000  100.0 2 £ 939  100.0
1 & & & 580 406 1 4 = @& 820,000 607| 1 = = 1731 1843
2 = F 835 5.8 2 N 52,100 3.9 2 1t & & 140.6 149.7
3 PN 660 4.6 3 B PN 44,400 3.3 3 K o 112.8 120.1
4 F ¥ 522 3.6 I, F 41,600 3.1 4 B bics 111.6 118.8
5 BE N 519 3.6 5 5 33,900 25 5 BE N 85.5 91.1
I;S"qu: (HHI24E2 H 1 HBIE)
HERK HEER 1P N7 Y ABER
e | meme | msFs | va7 Ew| mems | smws | vo7 [Ee| smeEme |iesoossse] a7
= % BE] % BE] %
2 3] 43,900  100.0 2 3] 2,555,000  100.0 2 £ 582  100.0
1 B B B 7330 167| 1 & @ @& 524700 205| 1 it & & 2233  383.7
2 = i3 5,360 12.2 2 B B B 341,000 13.3 2 % = 219.8 377.7
3 &5 F 4,060 9.2 3 = 5 244,100 9.6 3 = = 190.8 327.8
4 = b 2,960 6.7 4 BE N 132,300 5.2 4 % [i#] 162.7 279.6
6 dt & & 2,350 5.4 5 & F 91,100 3.6 5 F E 157.8 271.1
MK s 2 71 s
HERK HEER 1P N7 Y ABER
| #miEne HEFY | L7 |BR| HEme mEESK | vx7 |BM| #mEme |iruromsws] o7
= % BE] % BE] %
2 3] 4320  100.0 2 3] 9,156,000  100.0 2 3 21194  100.0
1 B R B 514 11.9 1 B R B 1,269,000 13.9 1 & x 4,819.2 227.4
2 = 53 441 10.2 2 = 53 835,700 9.1 2 Ik~ = 4,432.0 209.1
3 % I, 318 7.4 3 &t & & 691,600 7.6 3 B bics 4,400.0 207.6
4 F ¥ 284 6.6 4 B 5 629,600 6.9 4 HE PN 3,866.7 182.4
7 & & @ 201 47| 5 T i 603,800 66| 7 4t ® 3,4008 162.3
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I ChapterlV JLWEHOLES v % 2

‘r »
BROFTE cresiee2n 1 mare

AEFH AENH (EBER L F %7 T AETS
Ee| mame | sEFs | vx7 [Ew| sems | 989 | va7 Bu| peme  |reoseses| va7
F % T4 % T %
S & 2,120  100.0 & Ed| 182,368  100.0 & 3] 66.9 100.0
1 = Bl 143 6.7 1 % b3 15,167 8.3 1 & # 1921 287.1
2 F ¥ 125 5.9 2 F = 12,382 6.8 2 = F 157.0  234.7
3 B R B 119 5.6 3 B R B 11,717 6.4 3 i 5 137.3  205.2
4 R b2 108 5.1 4 A th 10,387 5.7 4 H 123.2 184.2
12 4t & & 60 28| 10 4t & & 6,657 37| 11 4t & & 87.2 1303
i ABFHICIEROAORABERVKBED T L00PREOAEEE L HE L,
o} =
EAERER e
EYEER LERRILEE FREER
iwe| mame | sxs | vx7 |Bw| mess wes | vx7 [ sEms HER | vx7
t % t % kl %
S & 7,313,530  100.0 & Ed| 3,269,669  100.0 & 3] 3,160,440  100.0
1 & & & 4,048,197 554 | 1 it ¥ & 2,939,035 899 | 1 i & & 444812 141
2 EN 330,598 4.5 2 B %S 57,890 1.8 2 o= 220,931 7.0
3 & ZS 252,941 3.5 3 & = 45,223 1.4 3 X b7 175,116 5.5
4 = F 211,951 2.9 4 R b 43,150 1.3 4 ® Bl 157,251 5.0
5 5 207,902 2.8 5 & F 36,258 1.1 5 F E 154,626 4.9
A »,
03 e
Marine fishery
iSRRI som
BERERE > HENEEME > FIFEE
me| meme | esem | vov |Be| mese | sees | vo7 [Ee| sess | sses | vev
REK % BREK % REK %
S & 79,067  100.0 & Ed| 74,526  100.0 & 3] 4,541  100.0
1 4t & @& 11,080 140| 1 dt # & 10006 134| 1 i # & 1,083 238
2 K I 5,998 7.6 2 K 5 5,740 I8 2 K JE= 465 10.2
3 F # 3,702 4.7 3 & = 3,567 4.8 3 K o} 258 5.7
4 = 1% 3,444 4.4 4 E 3,317 4.5 4 B R 238 5.2
5 & F 3,406 4.3 5 # 1% 3,284 4.4 5 % % 160 3.5
N 3 =
MR - BWCEEFER anseemum
WERYE - BELER EERERER BEEIEIER
iwe| mame | sxs | vx7 |Be| mess wER | vx7 [E| mEmn wEE | v=7
100t % 100t % 100t %
S & 41,094  100.0 & Ed| 31,970  100.0 & 3] 9,124  100.0
1 4t & @& 9562 233| 1 dt ¥ 883 216| 1 &K & 1,014 111
2 B 2,744 67| 2 % # 2,631 82| 2 & & 991 109
3 % W 2,631 64| 3 & 1% 2,504 78| 3 B # 742 8.1
4 = b2 2,604 6.3 4 = b 1,862 5.8 4 it & B 739 8.1
5 5 # 1,837 4.5 5 & fiF] 1,789 5.6 5 fk i 669 7.3
EOBEAE - BEXAER O, BEAXAEER OBRRBERNERBDA,
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I%wmﬂvtﬁﬁméﬁiy%yﬁ

“ », », E
TREE 31001 5 G py—

IF7=TH W FIFEIRLDL AbE::]
JI|E1ﬁ| #ENTR | BES | vz 7 |G| #EFR BES vz 7 |G| #EFR BES 7
100t % 100t % 100t %
2 E 3,394 100.0 2 E 1,538 100.0 2 E 563 100.0
1 4 & & 3,386 99.8 1 & & & 1,461 95.0 1 & & & 512 90.9
2 & # 8 0.2 2 = F 48 3.1 2 & #* 22 3.9
3 = b 0 0.0 3= b 18 1.2 3 & F 19 3.4
- - - - 4 & #* 10 0.7 4 = b 6 1.1
- - - - 5 H 0 0.0 5 H 2 0.4
MR DE R s
(FrAIEAE B
iEF=ThH W ZASEE
Ee| meme | weE | =7 |Bw| meEme wEE | vx7
100t % 100t %
2 E 1,430 100.0 2 E 326 100.0
1 & PO 984 68.8 1 & & & 239 73.3
2 & & & 394 27.6 2 X b 77 23.6
3 = b 33 2.3 3K 5 9 2.8
- - - - 4 = b7 0 0.0
B, - . - 4 A 0 0.0
)
04 6 RpEZFEAL
Collaboration of Primary, Secondary, and Tertiary Industry
B AEEBERE
EMRTEEEE BEKK
wr| meme | waE sy (M| #pERAe E2EH | o7
1005 M % HEBE %
2 E 2,104,038 100.0 2 E 61,970 100.0
1 4 & & 154,762 7.4 1 = ¥ 4,580 7.4
2 & [ 111,192 5.3 2 &t & & 3,470 5.6
3 & fif] 82,578 3.9 3 F = 2,590 4.2
4 = 1% 81,108 3.9 4 F fit] 2,560 4.1
5 & S 77,115 3.7 5 @& 5 2,110 3.4
d o REEEBEFEC . REREANIRERRMEEGEICLZ [BEMI] . DEEZEICEER

MRERE] .

BEEN

WORAEPEBIERR (o

(BRRE] RU TBRLR L7V ] ORFEEEICBEELLEELZLD,

FRERSE EEIH
| weme | owE | vxv [Ew| mess | sges [ vxv
1005 H % FEFH %
S & 234,383  100.0 S & 3,680  100.0
1 & & & 64,117 27.4 1 & & & 380 10.3
2 B R B 17,522 7.5 2 K 5 310 8.4
3 = E 15,990 6.8 3 18 #* 210 5.7
4 F = 15,341 6.5 4 [ 200 5.4
5 = ) 11,005 4.7 5 B R B 190 5.2

T RRLEMBEEC I RERERXITEERRBEAEICLS KEMT] |
PBRRE] R TEARL R 7] OBREEEICBEELLEELZLD,
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| ChapterlV JLMEHOLES v %7

05 HREPEHIAE - Ha e A

Forestry output, Fishery output

MEPEB o

HEENER > b AMERE > HHEE D REE
| e | mmm | ve7 [Ew| meme | Emm | 27 |Ew| pems Ewm | vx7
1,0005 % 1,0005 % 1,0005 %
S & 46,285  100.0 S & 22,787  100.0 S & 22,566  100.0
1 K LG 5,935 12.8 1 & & & 3,515 15.4 1 K 2 5,263 23.3
2 = 4,768 10.3 2 = 5 2,315 10.2 2 % = 4,645 20.6
3 4t & & 4,682 10.1 3 & F 1,492 6.5 3 & [ 1,178 5.2
4 = 5 2,913 6.3 4 & N 1,369 6.0 4 & B & 1,059 4.7
5 & ¥ 1,968 4.3 5 K 7 1,306 5.7 5 % [ 827 3.7
X 2EOE. HEFRAICHE LZERBEEZ G LAETHY . SEMLIERBLE—HLEL,
HERPENE crmaon
HERE - BIEEENER EE R EE EEIEEE N
Er| meme | EmE | vx7 [Em| mess Ewm | a7 [Bw| meme | Ewm | a7
1005 H % 1005 M % 1005 H %
2 5| 1,422,810  100.0 % 5 936,745  100.0 % 5 486,064  100.0
1 4 & & 274,961 193 1 4 & & 238,189 25.4 1 = 1% 68,406 14.1
2 K 5 99,627 7.0 2 K 5 63,620 6.8 2 B R B 53,543 11.0
3 1% 88,715 6.2 3= b7 56,604 6.0 3 & B & 36,772 7.6
4 = gl 79,156 56| 4 & I 52,5637 56| 4 R iy 36,007 7.4
5 B B B 76,310 5.4 5 & S 41,157 4.4 5 N 31,658 6.5
1 REOEE. FERRAIE LELEZ G LB ch ). SERES LEEHBEE—RLAL,

2 HEEER

06 BFIEMGE Gmeemmmo

Food self-sufficiency ratio

HAY—~R=2 EEBRN-Z
Er| e | seE | vx7 |Ew| mems agE | vx7
% %
£ = 38 - £ = 66 -
1 & # @ 196 158 1 = U5 281 215
2 ™ H 190 152 2 B R B 266 200
3 b iz 135 97 3 & & 238 172
I 120 82| 4 d # 214 148
5 ] 107 69 5 & ¥ 200 134
T BBME A, PRO0FBAME.
=%
07 BBRERRA crmare 3 ks
Certified farmers
REREEN REREED > BEAR
Ee| weme | Beezas] v-v [Ew] mess | osam [ vev
REE % N %
£ = 239,028  100.0 £ = 24,950  100.0
1 & & @ 20741 124| 1 & & @ 3383 136
2 1B #* 14,546 6.1 2 B R B 1,191 4.8
3 & ZS 10,971 4.6 3 18 #* 1,028 4.1
4 H 10,121 4.2 4 EN 935 3.7
5 1 2 9,966 4.2 5 = o] 794 3.2
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SERR224F~
ARCAE

ChapterV BREMFHEL

01 B4ERET  PHmis

Chronological statistics  area of cultivated land Hif7 : ha
e VaY sy ES &l
&R
# | m | m # | m | m # | m | m # | m | m
TR22% | 1,156,000 224,600 931,700 42,900 21,300  21600] 24600 6550  18,100] 19,100 9,080 10,100
23 1155000 224300 930800| 42700 21,300 21,400 24,600 6550 18100 19,100 9,080 10,100
24 1,153,000 224000 929,200] 41,800 21,200 20,700 24500 6540  18000] 19100 9,020 10,100
25 1,151,000 223,800 927400| 41,700 21,200 20,500 24500 6540 17,000 19,00 9,020 10,100
26 1,148,000 223400 924,700| 41,600 21,200 20,400 24400 6540  17.800| 19100 9,020 10,100
27 1,147,000 223,000 924500| 41500 21,200 20,300 24300 6520 17,800 19,100 9,010 10,100
28 1,146,000 222600 923600] 41,300 21,200 20,100 24300 6520  17,700| 19100 9,010 10,100
29 1145000 222300 922,700| 41,000 21,100 19,900 24200 6510 17,700 19,00 9,010 10,100
30 1,145,000 222200 922300] 41,000 21,100 19,900 24200 6510  17,700| 19,100 9,010 10,100
SmzaE | 1,144,000 221,900 921,800 41,000 21,100  19,800| 24200 6510  17,700] 19,000 9,000 10,000
#& 2240 )i Bif
&R
# | ®m | m # | m | m # | ®m | m # | m | m
224 36,000 8830  27,100] 115000 91,600 23300 131,400 61,100  70,300] 26800 8440 18400
23 35900 8800  27,100| 114,600 91,600 23,100 131,300 61,100  70,200| 26,700 8440 18300
2 35700 8780 26900 114,300 91,500 22,800 131,200 61,100  70,100| 26500 8440 18,000
25 35400 8710 26,700 114,200 91,400 22,800 131,000 61,000  70,000| 26000 8440 17,600
26 35200 8650 26,500 114,000 91,200 22,700 130,000 61,000  69,900| 26,000 8430 17,600
27 35100 8640  26500] 113800 91,200 22,700 130,800 61,000  69,900| 26,000 8430 17,500
28 34900 8600  26300] 113800 91,100 22,700 130,700 61,000  69,800| 26,000 8430 17,500
29 34700 8570  26100] 113800 91,100 22700 130,600 60,900  69,700| 25900 8430 17,500
30 34700 8560  26100] 113700 91,100 22,600 130,600 60,900  69,700| 25900 8420 17,500
STE 34600 8560  26000] 113700 91,100 22,600 130500 60,800  69,700| 25900 8420 17,500
A FHE—=v7 JilzR HS
&5
# | m | m # | m | m # | m | m # | m | m
224 62,300 ~ 62300] 166800 1680 165100] 35000 9,700  25300] 39,200 5440 33800
23 62,300 - 62300 166700 1670 165000 34900 9,570  25300] 39200 5440 33700
24 62,300 62300 166600 1660 165000 34900 9,560  25300] 39200 5430  33:800
25 62,300 - 62300 166600 1660 164900| 34800 9,560  25300] 38900 5430 33500
26 62,300 - 62300 166500 1640 164900| 34700 9,530  25100] 38900 5400 33500
27 62,300 - 62300 166500 1630 164800| 34600 9,520  25100] 38900 5170 33700
28 62,400 - 62400 166400 1610 164800| 34600 9,520  25100] 38800 4950 33900
29 62,400 - 62400 166300 1610 164700| 34600 9,510  25100] 38800 4740 34,100
30 62,400 - 62400 166200 1610 164600| 34500 9,500  25000] 38800 4740 34,000
SMTE 62,400 - 62400 166100 1610 164500] 34200 9,280  24,900| 38800 4740 34,000
+ B Ei[f72:3 RE
&R
# | m | # | m | o # | m |
FrR22% | 255100 817 254300] 91,500 - 91,500] 110,600 ~ 110,600
23 255,100 817 254300 91,300 - 91,300 110,600 - 110,600
2 255,100 817 254300 91,300 - 91,300 110,600 - 110,600
25 255,000 817 254200 91,100 - 91,100 110,600 - 110,600
26 254,900 808 254,100 89,100 - 89,100 110,600 - 110,600
27 254,900 761 254100 89,100 - 89,100 110,500 - 110,500
28 254,900 761 254100 88,700 - 88700 110,400 - 110,400
29 254,600 761 253900 88,500 - 88500 110,400 - 110,400
30 254,700 761 253900 88,500 - 88500 110,300 - 110,300
amzE | 254,700 761 253900 88,500 - 88500 110,200 - 110,200
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SRR 224 PE~
HHDCAERE

02 B KRR T
HAL = 10227 0 IE kg
Chronological statistics paddy field rice [ I
» L B nE o
- fef 10a%’:f:‘)4¥§| R | {EER 10aé’|f:w}l§| REE | (TS 10a§f:»)u§| R | EES 10aé’n’:UJ&§| I
FRR22EFE 114,600 525 601,700 7,800 532 41,500 3,010 505 15,200 4,220 514 21,700
23 112,900 562 634,500 7,740 546 42,300 2,970 508 15,100 4,150 518 21,500
24 112,000 572 640,600 7,680 550 42,200 2,970 518 15,400 4,090 540 22,100
25 112,000 562 629,400 7,680 546 41,900 3,050 509 15,500 4,200 532 22,300
26 111,000 577 640,500 7,660 564 43,200 3,060 511 15,600 4,200 531 22,300
27 107,800 559 602,600 7,420 551 40,900 2,990 491 14,700 4,030 504 20,300
28 105,000 551 578,600 7,190 542 38,900 2,930 486 14,200 4,040 497 20,100
29 103,900 560 581,800 7,160 552 39,500 2,950 497 14,700 3,950 514 20,300
30 104,000 495 514,800 7,230 497 35,900 2,960 471 14,000 4,020 484 19,400
S TTEE 103,000 571 588,100 7,240 547 39,600 2,960 504 14,900 3,960 504 20,000
®E 2240 )i Bif
ER
teitmi [wonromn| wmE | omE |vescons| pEe | eomE [ecoss| pms | eemm wecoss| ges
R 22F 4,940 534 26,400 52,200 523 273,000 31,000 540 167,500 4,630 490 22,700
23 4,880 538 26,300 51,200 562 287,600 30,800 594 183,100 4,560 536 24,400
24 4,900 550 26,900 50,700 582 295,000 30,600 590 180,400 4,580 531 24,300
25 4,930 543 26,800 50,600 571 288,900 30,500 581 177,300 4,560 530 24,200
26 4,850 553 26,800 50,000 585 292,100 30,500 599 182,600 4,500 551 24,800
27 4,640 526 24,400 48,000 568 272,100 30,300 582 176,300 4,380 526 23,000
28 4,530 522 23,700 46,000 558 256,900 29,900 572 171,200 4,340 551 23,900
29 4,510 544 24,500 45,400 571 259,200 29,700 576 171,300 4,260 519 22,100
30 4,650 496 23,000 45,400 492 223,200 29,500 513 151,300 4,230 478 20,200
SHMTEE 4,660 530 24,700 45,100 581 262,300 29,100 599 174,300 4,160 549 22,800
=7 FR—y & FEIR EE
ER
fettmit [ omn] mmm | eomm [woscons| pmm | eomn [eoscoss| pue | evmm foscons] mes
FRR22EFE - - - 1,200 506 6,090 3,810 500 19,100 1,710 491 8,420
23 - - - 1,160 541 6,280 3,740 520 19,400 1,650 513 8,450
24 - - - 1,130 535 6,060 3,720 529 19,700 1,600 518 8,290
25 - - - 1,100 508 5,590 3,790 503 19,100 1,550 504 7,810
26 - - - 1,070 555 5,950 3,710 530 19,600 1,510 523 7,890
27 - - - 1,070 526 5,620 3,530 507 17,900 1,450 494 7,150
28 - - - 1,040 528 5,510 3,610 492 17,800 1,390 488 6,800
29 - - - 1,010 516 5,220 3,610 510 18,400 1,350 507 6,820
30 - - - 1,010 450 4,520 3,690 442 16,300 1,320 464 6,130
S TTEE - - - 982 545 5,350 3,540 520 18,400 1,280 518 6,640
+ B Ei[f72:3 RE
ER
fem [wonromn| mms | fewmE |ecoms| pms | eomE |vecoss| wER
R 22F 19 517 98 - - - - - -
23 18 487 88 - - - - - -
24 16 495 79 - - - - - -
25 16 485 76 - - - - - -
26 15 549 85 - - - - - -
27 15 531 80 - - - - - -
28 15 486 73 - - - - - -
29 15 484 73 - - - - - -
30 13 410 53 - - - - - -
SHTEE 14 476 67 - - - - - -
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03 RiFHat

INEE

HAL {

fE £ 1 B :ha
10a%i7z V& : kg

SRR 224 PE~
HHDCAEE

Chronological statistics wheat [ I
» L B BB 8
A prae=— worrcomu| WER | EHEE |voscons| pEE | eeER [escoss] pee | eomd |oecoss] s
T K225 116,300 300 349,400 9,190 265 24,300 71 385 273 582 265 1,550
23 119,200 419 499,900 9,100 360 32,800 17 353 272 589 206 1,210
24 119,200 492 586,100 9,400 358 33,700 79 394 311 646 307 1,990
25 122,000 436 531,900 9,600 390 37,500 85 454 386 730 348 2,540
26 123,400 447 551,400 9,880 406 40,100 82 410 336 902 342 3,090
27 122,600 596 731,000 9,940 497 49,400 91 424 386 944 379 3,580
28 122,900 427 524,300 9,950 404 40,200 155 301 467 1,040 180 1,880
29 121,600 500 607,600 9,560 436 41,700 129 471 607 1,120 286 3,220
30 121,400 388 471,100 9,120 259 23,600 192 247 474 1,040 32 331
SHFTEE | 121,400 558 677,700 9,180 496 45,600 167 524 875 1,030 483 4,950
®E 2240 )i Bif
£R
teitmi [wonromn| wmE | omE |vescons| pEe | eomE [ecoss| pms | eemm wecoss| ges
R 22F 1,630 314 5,120 17,100 293 50,100 11,600 263 30,500 1,260 247 3,100
23 1,660 314 5,210 17,400 320 55,900 12,300 372 45,700 1,290 264 3,400
24 1,720 338 5,830 17,100 341 58,300 12,200 381 46,600 1,320 341 4,500
25 1,730 354 6,140 17,800 356 63,500 13,100 374 49,100 1,440 321 4,620
26 1,790 384 6,860 17,600 416 73,100 13,700 352 48,100 1,570 349 5,490
27 1,820 431 7,820 17,800 513 91,400 13,800 487 67,300 1,650 289 4,760
28 1,750 375 6,560 18,600 439 81,500 14,200 454 64,400 1,660 324 5,380
29 1,820 360 6,530 18,800 439 82,500 14,300 346 49,400 1,710 240 4,100
30 1,740 218 3,780 18,500 323 59,700 14,400 318 45,600 1,710 238 4,070
SHMTEE 1,850 527 9,730 19,100 477 91,100 14,600 436 63,600 1,790 310 5,540
=a FR— 5 REIR =
£R
fettmit [ omn] mmm | eomm [woscons| pmm | eomn [eoscoss| pue | evmm foscons] mes
T K225 - - - 27,200 340 92,400 2,140 130 2,780 84 200 168
23 - - - 27,700 485 134,500 2,200 279 6,130 68 268 182
24 - - - 28,200 569 160,600 2,120 413 8,760 52 308 160
25 - - - 28,700 506 145,000 2,090 321 6,690 50 270 135
26 - - - 29,500 525 154,700 2,040 416 8,460 58 417 242
27 - - - 29,400 620 182,500 2,030 419 8,500 52 410 213
28 - - - 28,900 569 164,800 2,120 291 6,160 53 208 110
29 - - - 28,700 487 139,600 2,110 397 8,380 49 329 161
30 - - - 29,000 458 132,800 2,250 213 4,790 57 9 5
S TTEE - - - 28,500 672 191,700 2,130 474 10,100 47 353 166
+ B Ei[f72:3 RE
£R
fem [wonromn| mms | fewmE |ecoms| pms | eomE |vecoss| wER
R 22F 45,300 306 138,400 210 274 575 - - -
23 46,600 459 213,800 202 431 871 X X X
24 46,100 573 264,200 227 500 1,130 X X X
25 46,400 464 215,200 233 453 1,060 23 226 52
26 46,100 455 209,800 238 474 1,130 57 179 102
27 44,700 701 313,400 235 603 1,420 74 434 321
28 44,100 343 151,400 256 506 1,300 69 304 210
29 43,100 626 269,700 251 520 1,300 75 513 385
30 43,200 452 194,900 241 293 706 81 368 298
SHTEE 42,700 591 252,600 249 601 1,500 76 482 366
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04 REHaE KE

SERR224E BE~

fE ff i & :ha
B < 10a%72 D IRE kg
I

Chronological statistics soy beans O ot
» BE R 5 M
= Jrap— 10aéi7’:Ull)l§| wHE | (eeER 10aéif:‘Jﬂ)1§| wHE | (eeEE 10aéif:‘Jﬂ)1§| WEE | {feEE 10aéif:‘Jﬂ)1§| I &
TH22EE | 24,400 237 57,800] 2,220 237 5270 463 171 794 1,070 167 1,780
23 26,400 227 59900] 2,350 249 5850 485 204 9g0| 1,210 173 2100
2 27,200 250 68,000] 2,210 277 6,110 520 197 1,02] 1,340 186 2490
25 26,800 229 61,400] 2,110 236 4,980 602 182 1,100] 1,260 180 2,280
26 28,600 257 73,600] 2,240 269 6,030 608 196 1,190 1,330 203 2,700
27 33,900 253 85000] 2,630 272 7,140 547 219 12000 1570 187 2,940
28 40,200 210 84400] 2,900 243 7,040 688 179 1230| 1,690 162 2,740
29 41,000 245 100500] 2,960 264 7,810 557 163 907| 1,450 188 2730
30 40,100 205  82300] 3,120 206 6420 507 141 717] 1430 150 2,150
afiaEE | 39,100 226 88400] 2,910 236 6890 496 180 893| 1,630 176 2,870
®E 2250 N 2
R
Jrap— 10aéi7’:Ull)l§| wHE | (eeER 10aéif:‘Jﬂ)1§| wHE | (eeEE 10aéif:‘Jﬂ)1§| WEE | {feEE 10aéif:‘Jﬂ)1§| I &
TH22EE 1,310 256 3370] 7,490 231 17,300] 4860 218 10,600 654 185 1,210
23 1,440 235 339%0| 7,950 221 17,600] 5,100 216 11,000 727 165 1,200
2 1,370 247 3380 8250 257 21200] 5,390 244 13,200 736 201 1,480
25 1,400 230 322] 7,530 239 18000] 5710 221 12,600 718 77 1,270
26 1,410 253 3570| 8230 253 20,900] 5,830 252 14,700 745 181 1,350
27 1,510 252 3800] 9470 266 25200] 6,800 239 16,300 830 156 1,290
28 1,810 253 4570| 10,300 211 21,700] 7,570 200 15,100 885 168 1,490
29 1,740 261 4520] 10,500 252 26400] 8190 232 19,000 944 174 1,650
30 1,800 206 3,690| 10,800 187 20100] 7,800 184 14,400 860 146 1,260
SRR 1,800 230 4150| 10,300 232 23900] 7,540 210 15,900 852 155 1,320
RE FHE—=>y7 RE# =F=
R
Jrap— 10aéi7’:Ull)l§| wHE | (eeEE 10aéif:‘Jﬂ)1§| wHE | (eeER 10aéif:‘Jﬂ)1§| BEE | {feEE 10aéif:‘Jﬂ)1§| I &
TH22EE - - 1 1020 269  2,750] 1,310 218 2,850 39 207 81
23 - - - 1,150 274 3,150 1,350 219 2,950 151 141 213
2 ; ; 4 1100 200 2,640] 1,270 225 2,860 123 107 132
25 ; ; 4 1230 257 3170| 1,220 198 2420 125 198 248
26 ; ; 4 1320 287 37%| 1,270 253 3210 X 213 X
27 ; ; 4 1600 258 4130 1,390 249 3450 50 204 102
28 ; ; 4 2060 216 4460] 1,660 200 3330 36 217 78
29 ; ; 4 2300 247 5690| 1560 237 3,690 40 243 97
30 ; ; 4 2370 256 6070] 1,480 179 2,650 49 194 95
SRR ; ; 4 2630 278 7.320] 1,490 209 3,100 18 194 93
+ 5 i3 RE
£R
feHE 1oa§f:uu>z§| WEE | {FHER 1oa§f:uu>z§| WEE | {FHER 1oa§f:uu>z§| R
TH22EE 4,010 296 11,900 ; ; ; ;
23 4,460 255 11,400 ; ; ; ; ; ;
2 4,860 277 13,500 X X X ; ; ;
25 4,850 249 12,100 1 191 2 ; ; ;
26 5,590 288 16,100 2 250 5 X 150 X
27 7,530 271 20,400 9 222 20 14 57 8
28 10,600 212 22,400 18 139 25 X X X
29 10,700 262 28200 19 184 35 X X X
30 9,870 250 24,700 16 188 30 X X X
SRR 9,410 234 22,000 17 206 35 X X X
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Chronological statistics sugar beets O R ot
» L B BB 8
A prae=— worrcomu| WER | EHEE |voscons| pEE | eeER [escoss] pee | eomd |oecoss] s
T K225 62,600 4,940 3,090,000 1,110 4,860 54,000 132 4,320 5,700 192 4,020 7,710
23 60,500 5,860 3,547,000 1,030 4,990 51,500 122 5,060 6,160 164 3,900 6,380
24 59,300 6,340 3,758,000 993 6,500 64,600 117 5,580 6,550 151 6,400 9,680
25 58,200 5,900 3,435,000 949 5,560 52,800 126 5,050 6,360 181 5,690 10,300
26 57,400 6,210 3,567,000 935 6,300 58,900 142 5,540 7,880 209 6,240 13,000
27 58,800 6,680 3,925,000 978 6,520 63,800 150 5,220 7,840 260 5,990 15,600
28 59,700 5,340 3,189,000 1,050 5,640 59,400 154 4,990 7,710 277 5,280 14,600
29 58,200 6,700 3,901,000 1,140 6,410 73,100 158 5,140 8,120 285 6,010 17,100
30 57,300 6,300 3,611,000 1,200 5,670 68,100 175 4,290 7,500 292 4,640 13,500
SHFEE | 56700 7,030 3986000 1160 6940 80,400 157 4990 7,830 295 6,650 19,600
®E 2240 )i Bif
£R
teitmi [wonromn| wmE | omE |vescons| pEe | eomE [ecoss| pms | eemm wecoss| ges
R 22F 1,390 4,520 62,500 831 4,200 34,900 3,970 4,030 159,900 163 4,420 7,200
23 1,320 4,420 58,200 664 4,660 30,900 3,820 4,220 161,100 227 4,250 9,660
24 1,240 6,230 77,500 590 6,510 38,400 3,740 6,100 228,300 289 5,900 17,000
25 1,220 5,510 67,400 537 5,660 30,400 3,560 5,460 194,400 426 3,620 15,400
26 1,240 6,150 76,500 494 6,290 31,100 3,550 6,190 219,600 328 4,020 13,200
27 1,320 5,760 76,000 518 6,250 32,400 3,630 6,460 234,500 265 3,530 9,370
28 1,380 5,430 75,100 527 5,580 29,400 3,660 5,810 212,600 191 5,260 10,100
29 1,290 5,930 76,600 483 6,660 32,100 3,530 6,660 234,900 200 6,080 12,200
30 1,290 4,780 61,500 486 6,000 29,200 3,550 5,040 179,000 205 5,340 11,000
SHMTEE 1,200 6,380 76,600 577 7,280 42,000 3,420 6,870 235,200 208 6,300 13,100
=a FR— 5 REIR =
£R
feitmm [wonrcomn| wER | eomE |voscons| pEE | evmEm [wescoss] nee | eemd |oecoss] s
T K225 - - - 25,800 5,030 1,301,000 1,650 4,600 75,900 66 3,380 2,230
23 - - - 25,100 5,850 1,467,000 1,560 5,050 78,800 59 4,660 2,750
24 - - - 24,400 6,120 1,492,000 1,600 6,390 101,900 50 6,620 3,300
25 - - - 23,800 5,620 1,314,000 1,550 5,720 88,500 51 5,730 2,920
26 - - - 23,400 6,170 1,441,000 1,580 6,340 100,100 44 6,190 2,720
27 - - - 23,700 6,880 1,630,000 1,670 6,540 109,500 52 6,150 3,200
28 - - - 24,000 5,690 1,365,000 1,680 5,130 86,200 49 3,640 1,770
29 - - - 23,500 6,420 1,509,000 1,570 6,090 95,400 38 6,230 2,350
30 - - - 23,000 6,330 1,454,000 1,550 4,960 76,900 39 5,070 1,980
S TTEE - - - 22,800 7,390 1,686,000 1,500 6,050 91,000 41 5,490 2,250
+ B Ei[f72:3 RE
£R
fem [wonromn| mms | fewmE |ecoms| pms | eomE |vecoss| wER
R 22F 26,800 5,070 1,359,000 335 4,520 15,200 146 3,520 5,160
23 26,000 6,340 1,649,000 304 6,310 19,200 135 5,240 7,060
24 25,700 6,590 1,694,000 301 5,920 17,800 128 5,340 6,830
25 25,400 6,420 1,630,000 295 5,850 17,200 121 4,700 5,670
26 25,100 6,280 1,579,000 301 5,640 16,900 125 5,020 6,250
27 25,800 6,660 1,717,000 299 6,350 19,000 130 5,530 7,180
28 26,300 4,980 1,308,000 298 5,410 16,100 125 2,390 2,980
29 25,600 7,100 1,814,000 292 6,590 19,200 118 6,030 7,110
30 25,100 6,710 1,684,000 294 5,810 17,100 117 5,470 6,420
SHTEE 24,900 6,850 1,705,000 287 6,840 19,700 114 6,140 6,990
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Chronological statistics buckwheat [
» BE R B M
= Jrap— 1%%tum§| wHE | (eeER I%ﬁtUW§| wHE | (eeEE I%ﬁtUW§| WEE | {feEE I%ﬁtUW§| I &
TH22&E | 15400 72 11,100 217 73 158 74 51 38 303 50 153
23 19,300 59 11,400 370 79 293 171 64 109 371 68 251
2 21,700 91 19,700 436 99 433 150 56 84 478 74 356
25 22,200 68 15100 326 61 199 127 70 89 528 74 389
26 21,600 60 13,000 297 68 203 158 55 87 502 68 342
27 20,800 77 16,000 280 66 184 94 66 62 422 63 264
28 21,500 56 12,100 281 56 156 90 50 45 462 60 275
29 22,900 80 18,300 299 68 204 177 77 137 528 105 554
30 24,400 47 11,400 308 34 105 230 38 87 683 57 388
SfITEE | 25200 78 19,700 306 74 226 265 54 142 767 64 488
®E 2250 N 2
R
Jrap— 1%%tum§| wHE | (eeER I%ﬁtUW§| wHE | (eeEE I%ﬁtUW§| WEE | {feEE I%ﬁtUW§| I &
TH22EE 779 69 538] 5,210 53 2770] 7,260 8 5930 325 66 214
23 1,040 68 73] 6120 54 3200 82990 56 5060 355 35 124
2 1,070 76 815| 7,110 82 5850 9,730 97 9,450 420 64 268
25 1,100 85 93| 7,580 57 4350 9,630 69 6,690 430 78 334
26 1,170 57 660| 7,180 50 3590 9,390 61 5740 434 44 191
27 1,190 85  1010| 6690 66 4450 9,160 79 7,250 420 55 231
28 1,330 79 1080 6640 50 3310 9410 65 6,080 433 52 226
29 1,390 9% 1340 6950 69 4800 10,200 78 7,970 466 55 254
30 1,600 65 1,080 7,190 34 2430 10,800 46 4940 449 28 125
SRR 1,700 93 1590| 7,150 67 4770 11,200 8 9,620 462 81 373
RE FHE—=>y7 RE# =F=
R
Jrap— 1%%tum§| wHE | (eeEE I%ﬁtUW§| wHE | (eeER I%ﬁtUW§| BEE | {feEE I%ﬁtUW§| I &
TH22EE 47 64 30 432 95 411 54 78 42 25 47 12
23 47 51 24 481 81 392 134 98 131 45 60 27
2 40 85 34 538 80 430 142 109 155 69 54 37
25 39 54 21 532 95 505 186 79 147 46 74 34
26 18 83 15 620 75 465 170 104 177 44 59 26
27 23 30 7 640 77 493 201 90 180 33 85 28
28 9 33 3 640 54 346 242 56 136 32 69 22
29 6 100 6 642 104 668 212 94 199 28 79 22
30 27 33 9 736 52 386 228 54 122 28 43 12
SRR 36 81 29 745 99 738 196 84 165 28 64 18
+ 5 i3 RE
£R
feHE 1%§tum§| WEE | {FHER 1%§tum§| WEE | {FHER 1%§tum§| R
TH22EE 424 117 498 143 80 114 117 125 146
23 757 81 615 168 136 228 229 53 122
2 924 120 1,110 185 117 217 421 100 421
25 952 87 828 199 145 288 566 61 345
26 684 110 752 227 78 176 678 83 566
27 642 119 763 290 92 267 745 104 773
28 717 46 331 302 37 111 928 2 18
29 809 119 965 294 131 386 872 92 806
30 851 93 794 289 82 236 915 78 710
SRR 1,060 70 739 282 75 211 1,010 55 550

- 98 -



I Chapter V. SR4E#Hiqt

07 BAEHET BER

SRR 224 PE~
A HICAEPE

fE ff i & :ha
B < 10a%72 D IRE kg
o

Chronological statistics rape seeds B ot
» BE = B M
= Jrap— 1%%tum§| wHE | (eeER I%ﬁtUW§| wHE | (eeEE I%ﬁtUW§| WEE | {feEE I%ﬁtUW§| I &
TH22EE 425 141 600 - - - - - - 16 106 17
23 502 189 949 ; ; ; ; ; ; X X X
2 407 218 887 X X X ; ; ; 13 32 4
25 430 184 791 20 270 54 - - - 7 71 5
26 404 203 820 X X X ; ; ; X 56 X
27 605 318 1,920 X X X ; ; ; 5 148 7
28 884 282 2,490 16 313 50 ; ; ; 12 136 16
29 939 285 2,680 25 268 67 ; ; ; 12 164 20
30 971 246 2,390 42 243 102 ; ; ; X X X
SHTEE 1,030 320 3,300 41 378 155 - - - X X X
®E 2250 N 2
R
Jrap— 1%%tum§| wHE | (eeER I%ﬁtUW§| wHE | (eeEE I%ﬁtUW§| WEE | {feEE I%ﬁtUW§| I &
TH22EE X X X 227 148 335 X X X 26 50 13
23 ; ; ; 222 218 483 82 79 65 37 89 33
2 X X X 161 221 356 29 159 46 27 " 11
25 X X X 165 197 325 59 105 62 29 72 21
26 ; ; ; 142 245 348 54 89 48 16 63 10
27 ; ; ; 269 338 910 72 161 116 X X X
28 X X X 414 310 1,280 125 165 206 X X X
29 X X X 496 331 1,640 89 219 195 X X X
30 X X X 549 268 1,470 140 184 257 6 50 3
SRR ; ; ; 622 359 2,230 132 230 304 X X X
RE FHE—=>y7 RE# =F=
R
Jrap— 1%%tum§| wHE | (eeEE I%ﬁtUW§| wHE | (eeER I%ﬁtUW§| BEE | {feEE I%ﬁtUW§| I &
TH22EE - - - X X X 30 43 13 - - -
23 ; ; ; ; ; ; 29 271 77 ; ; ;
2 ; ; ; ; ; ; 36 314 113 ; ; ;
25 - - - - - - 44 261 115 - - -
26 ; ; ; ; ; ; 44 291 128 ; ; ;
27 ; ; ; ; ; ; 82 287 235 ; ; ;
28 ; ; ; ; ; ; 86 341 293 ; ; ;
29 ; ; ; ; ; ; 131 279 365 ; ; ;
30 ; ; ; X X X 95 240 228 ; ; ;
SHTEE - - - X X X 94 378 355 - - -
+ 5 i3 RE
£R
feHE 1%§tum§| WEE | {FHER 1%§tum§| WEE | {FHER 1%§tum§| R
TH22EE 78 178 139 - - - -
23 115 244 281 - - - X X X
2 119 253 301 ; ; ; X X X
25 106 197 209 ; ; ; ; ; ;
26 131 189 248 ; ; ; ; ; ;
27 160 371 594 - - - - - -
28 198 283 561 ; ; ; ; ; ;
29 167 211 353 ; ; ; ; ; ;
30 91 284 258 ; ; ; ; ; ;
SHTEE 121 210 254 - - - - - -
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Chronological statistics potatoes WO R oct
» BE R B M
KA p— 10aéi7’:Ull)l§| wHE | (eeER 10aéif:‘Jﬂ)1§| wHE | (eeEE 10aéif:‘Jﬂ)1§| WEE | {feEE 10aéif:‘Jﬂ)1§| I &
TH22&E | 54100 3,240 1,753,000 753 3070 23,100 972 2,740  26600] 1,370 2,910 40,000
23 53,100 3470 1,843,000 754 3170 23,900 934 2970  27,700| 1,360 2,920 39,700
2 53,400 3,630 1,938,000 736 3390 24,900 953 3,080  29300| 1,400 3270 45,600
25 52,400 3580 1,876,000 708 3500 24,800 914 2830  25900| 1,240 3130 39,000
26 51,500 3,720 1,916,000 711 3280 23,300 883 2,880  25400| 1,220 3240 39,700
27 51,000 3,740 1,907,000 690 3270 22,600 886 2930  25900| 1210 3140 38,000
28 51,200 3350 1,715,000 622 3630 22,600 880 2,940  25900| 1,230 3040 37,200
29 51,300 3,670 1,883,000 645 3670 23700 814 2990  24400| 1210 3240 39,300
30 50,800 3,430 1,742,000 666 3280 21,900 745 2,660  19,800| 1,130 2,540 28,500
SRR
®E 2250 N 2
R
Jrap— 10aéi7’:Ull)l§| wHE | (eeER 10aéif:‘Jﬂ)1§| wHE | (eeEE 10aéif:‘Jﬂ)1§| WEE | {feEE 10aéif:‘Jﬂ)1§| I &
TH22EE 4320 2810 121,400 878 3020  26500] 3400 2,780 94,400 44 1,860 813
23 4190 3010 126,100 879 3040  26700] 3470 2,640 91,500 0 1,600 643
2 4220 3280 138,300 879 3240  28500| 3430 3520 120,900 42 2490 1,030
25 4060 3160 128,300 846 3190 27,000 3210 3360 107,900 38 2180 825
26 3980 3,000 123,100 815 3470  28300] 2,920 3560 103,900 38 2,130 797
27 3980 3,190 127,000 795 3610  28700] 2,840 3850 109,000 36 2,190 781
28 4270 2800 119,600 703 3310 23300 2730 3480 95000 33 2,240 728
29 4220 2980 125600 698 3250  22700| 2710 3540 95900 26 1,750 459
30 4260 2,700 114,800 677 3110 21,100 2,620 2,850 74,700 24 1,590 377
SRR
RE FHE—=>y7 RE# =F=
R
Jrap— 10aéi7’:Ull)l§| wHE | (eeEE 10aéif:‘Jﬂ)1§| wHE | (eeER 10aéif:‘Jﬂ)1§| BEE | {feEE 10aéif:‘Jﬂ)1§| I &
TH22EE 8 2,400 192| 17,800 3,660 651,600 631 2500 15,800 32 1880 593
23 8 2750 220 17,600 3820 673,300 567 2,810 15,900 27 1,850 504
2 8 3230 258| 17,700 3,990 707,300 598 2750 16,400 172 1440 2,480
25 7 1260 88| 17,600 3840 677,200 546 3,000 16,400 s 2400 991
26 7 1500 11| 17400 4150 723,100 536 3430 18400 25 2,820 690
27 7 1410 103| 17300 4040 697,300 517 3520 18200 38 2,640 999
28 7 1260 87| 17200 3,790 650,600 521 2,920 15,200 25 1,260 312
29 6 1480 87| 16,700 3860 644,000 547 2,920 16,000 35 2,560 892
30 6 1210 69| 16,600 3880 641,700 556 2,680 14,900 36 2110 751
SRR
+ 5 i3 RE
£R
feHE 1oa§f:uu>z§| WEE | {FHER 1oa§f:uu>z§| WEE | {FHER 1oa§f:uu>z§| R
TH22&E | 22900 3,150 721,300 473 3000 14,600 563 2,750 15,500
23 22200 3540 784,200 470 3290 15,500 535 3200 17,100
2 22200 3540 788,100 475 3510 16,700 512 3460 17,700
25 22300 3580 797,400 461 3150 14,500 494 3100 15300
26 22,000 3,620 797,000 445 3560 15800 515 3280 16,900
27 21,800 3700 805,800 451 3540 16,000 491 3430 16,800
28 22200 3,170 702,400 438 2,990 13,100 467 1,980 9,230
29 22800 3770 860,400 410 3480 14,300 458 3240 14,800
30 22600 3430 775,900 406 3390 13,800 465 3080 14,300
SRR
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